

## Local Government & Community Development Department

**Punjab Cities Program** 

**Improvement/Rehabilitation of 7 Nos Chowks in** 

**MC Jhang** 

## PC-I

Estimated Cost PKR 47.026 Million

May 2023

**Municipal Committee, Jhang** 



JERS CONSULTANCY (PVT) LTD (Formely Jers Engineering Consultants) 24-Civic Centler, Quaid-e-Azam Town, Township, Lahore (Pakistan) Tel: +92.42.35113123, +92.42.35113124 Fax: +92.42.35113125 E-mail: info@yers.com.pk, mail@yers.com.pk Web: http://www.jers.com.pk



## **Punjab Cities Program**

## PC-I Form for Improvement/Rehabilitation of 7 Nos of Chowks in MC Jhang

S. No.	Description	Page No.
1	PC-I Form	1-15
2	Annexure-A Location map	16-17
3	Annexure-B Project cost Estimates	18-69
4	Annexure-C Project Economic Analysis	70-83
5	Annexure-D Project Implementation Period (Gant Chart)	84-85
6	Annexure-E Environment and Social Mitigation & Management Plan	86-113
7	Annexure-F Project Drawings	-

### **Table of contents**

#### **PC-I FORM**

#### for

#### Improvement/Rehabilitation of 7 Nos of Chowks in MC Jhang

Project Serial Number

Sector :Local Government & Community Development DepartmentSub Sector:Social

1. Name of the project	Punjab Cities Program			
in runne of the project	Improvement/Rehabilitation of 7 Nos of Chowks in MC Jhang			
2.Location	Jhang city serves as headquarters of Jhang District, and is located in the central portion of the Punjab province.			
	The city is situated at 72°-20' East and 31°-16' north at a distance of 92 km from Faisalabad, and 252 km from Lahore. The city is located on the east bank of Chenab River.			
	Location map of the city is attached in Annexure	-A		
3. Authorities responsible	e for			
i- Sponsoring	Government of the Punjab (through World Bank 1	funding)		
ii- Execution	Municipal Committee, Jhang			
iii- Operation and Maintenance	Municipal Committee, Jhang			
iv-Concerned Provincial Department	Local Government and Community Development Department Punjab			
4a.Plan Provision				
i. If the project is included in medium term/five year plan, Punjab Cities Program (PCP) is a World Bank funded Progra total cost of USD 236.00 million and comprises of below r		funded Program with a es of below mentioned		
specify actual	Total loan from World Bank	USD 200.00 million		
allocation	Component-1 Infrastructure development	USD 180.00 million		
	(PforR)	USD		
	Component-2 Technical Assistance	USD 20.00 million		
	MCs share (20% of PforR component) equivalent to:	USD 36.00 million		
	Total Program cost	USD 236.00 million		

	Component-1 i-e Infra Structure Development component of Program costing USD 180.00 million is meant for management cost of the Program and capacity building of MCs & Government Departments and is included in the medium term/ five-year plan and has been funded now in ADP 2022-23 - under General Serial No-1769 with allocation of PKR 1329.90 million as foreign component.		
<ul> <li>ii- If not included in the current plan, what warrants its inclusion and how it is now proposed to be accommodated</li> </ul>	Not applicable		
iii If the project is proposed to be financed out of block provision indicate.	The Project is being financed by World Bank as Donor along with 20% co-financing from the Program Units and is not proposed to be financed out of block allocation.		
4b- Provision in the current year PSDP/ADP	PKR.1329.90 million under ADP 2022-23 General Serial No 1769 for Component-1 of the Program i-e Infra Structure Development as described above.		
5. Project objectives and	Sector Objectives		
its relationship with	The sector objectives include:		
sector objectives	1. Provision of efficient and effective municipality services to the masses.		
	2. Community development through improving basic infrastructure.		
	3. Clean and green environment for better living standards.		
	4. Effective use of land through master planning of urban areas.		
	5. Social uplifting and cohesion through provision of public open spaces and play grounds.		
	6. Ease in mobility and communication.		
	7. Cost efficient Solid Waste Management through waste to energy initiatives.		
	8. Capacity building of Local Governments.		
	9. Efficient Road network to make areas easily accessible		
	<b>Objectives of the Project</b>		
	The Project aims at improvement of infrastructure of municipal services such as roads, chowks, cross roads, street lights, parks and parking shed		

	for SWM machinery for improved communication and recreational facilities.		
	Scope of the work for this particular project includes the rehabilitation and improvement of existing roads, chowks and drainage system alon with the construction of new drainage system where needed. However the cleaning and de-silting of existing drains and pipes will be arranged by MC Jhang from their own resources.		
	The Project has the following objectives;		
	<ol> <li>Improvement of service delivery level of the municipal services in the sector of communication.</li> <li>Better travelling facilities for the commuters.</li> <li>Reduction in road accidents.</li> </ol>		
	4. Saving in travelling and repair cost of the vehicles.		
	<ul><li>5. Reduction in annual maintenance charges of roads and parks</li><li>6. Better lit roads and streets adding to security of people travelling at night.</li></ul>		
	7. Improvement in environments of the city making them livable.		
	8. Improvement in local and province economy. 9. Improvement in the economic growth potential of the city		
	y. Improvement in the economic growin potential of the erty.		
	Hence, the objectives of the project are in line with the sector objectives mentioned at Sr. No-1, 2, 3, 5 and 6 above and the project forms integral part of the concerned sector.		
6. Description, justific	ation, technical parameters and technology transfer aspects		
i. Present Condition	As per PLGA-12019 Urban Local Governments (ULGs) are basically and wholly responsible for delivery of the municipal services with a service delivery level which should satisfy the consumers and citizen. Unfortunately, the prevalent conditions of the service delivery are not encouraging in the city.		
	The major reason of unsatisfactory service delivery is the lack of proper maintenance of the municipal infrastructure in all sectors causing consumer dissatisfaction at one end and degradation of the infrastructure on the other end apart from very low revenue recovery as the consumers are reluctant to pay because of deteriorated service delivery.		
	The roads infrastructure has been damaged and degraded because of lack of repairs and up gradation due to shortage of money and constrained municipal budgets. If these roads & chowks are not improved at this stage, then this infrastructure will be further damaged / degraded giving financial loss to the public as well as private sectors and the growth potential of the city will be adversely affected. Damaged roads will increase the		

	operational expenditure of the vehicles apart from wasting time and giving rise to public frustration and mental agony.					
	T c o ii	The only way to keep the infrastructure in operational and functional condition for better travelling and recreational facilities to the inhabitants of the city and the surrounding areas, is to improve the roads, chowks and important cross roads				
ii. Description of the subproject-	,	The pi C <b>howk</b>	roject comprises of <b>s</b> in the city. Detail	of beautification/Rehabilitat of the road has been given in	tion of <b>07 Nos</b> in the table below.	
iii Detail of civil works, equipment &	T c	The detail of roads and chowks to be improved, rehabilitated or constructed in the city, is given below				
machinery and other physical facilities	]	S. N.	Name of Chowks	Detail of works in	nvolved	
r	]	MC	B Bank Chowk	<ul><li> Chowks Beautification</li><li> Wall Beautification/Rehabilita</li></ul>	tion	
	2	2 Circ	cuit House Chowk	<ul><li> Chowks Beautification</li><li> Wall Beautification/Rehabilita</li></ul>	tion	
		B Bun	d Chowk-1	<ul><li> Chowks Beautification</li><li> Wall Beautification/Rehabilita</li></ul>	litation	
	2	4 Khatme Naboowat • Ch Chowk • Wa		<ul><li> Chowks Beautification</li><li> Wall Beautification/Rehabilita</li></ul>	<ul><li>Chowks Beautification</li><li>Wall Beautification/Rehabilitation</li></ul>	
	4	5 Bun	d Chowk-2	<ul><li> Chowks Beautification</li><li> Wall Beautification/Rehabilita</li></ul>	tion	
	e	Edu Cho	Educational Complex• Chowks BeautificationChowk• Wall Beautification/Rehabilitation		tion	
		' Ada	ywal Chowk	<ul><li> Chowks Beautification</li><li> Wall Beautification/Rehabilita</li></ul>	tion	
iv Indicate governess issues of the sector relevant to the project and strategy to resolve them		Mun smoo the re The l mark office actua incul requi	icipal Committee, Jhang is facing acute shortage of staff. The oth sailing of the Punjab Cities Program can only be assured when equired staff is available with Unit. Repair and maintenance of the municipal services is not up to the c in such Unit. Trainings will be imparted by PMDFC to the vers as well as the field staff under the Program but practicing the ventions and method/procedures learnt in these trainings is the al requirement in which Units are lacking at present. Hence lcating the mind set for good repair and maintenance is the major irement for improving the service delivery level.			
7- Capital Cost of Project		he sum	mary of the works	included in the project is giv	en below; Cost	
		S. No		me of road	(PKR million)	
		1	CIVII WORKS			

	i	MCB Bank Chowk	1 701
			1./91
	11.	Circuit House Chowk	0.076
	iii.	Bund Chowk 1	5.793
	iv.	Khatme Naboowat Chowk	1.470
	v.	Bund Chowk 2	1.500
	vi.	Educational Complex Chowk	0.293
	vii.	Adaywal Chowk	1.020
		Total Amount Rs. (1)	11.945
	2	Chowks Beautification	
	i.	MCB Bank Chowk	3.894
	ii.	Educational Complex Chowk	7.786
	iii.	Circuit House Chowk	2.053
	iv.	Khatme Naboowat Chowk	2.478
	v.	Bund Chowk 2	4.410
	vi.	Adaywal Chowk	7.158
		Total Amount Rs. (2)	27.510
	3	Drainage Works	1.284
	4	ENVIRONMENTAL MITIGATION & MANAGEMENT COST	0.509
		Total Amount	41.250
		(1+2+3+4)	0.410
		Horticulture @ 1%	0.412
		Contingencies @ 2%	0.825
		PRA Charges @ 5%	2.062
		Escalation @ 6%	2.475
		Total Amount (Million Rs)	47.026
	See Ar	nnexure-B for details	
i- Indicate date of estimation of the project cost	The pro	ject estimates have been framed during the mont	n of May, 2023

ii- Basis of determining the estimates be provided.	The cost estimates have been framed on the basis of bill of quantities actually required at site and unit rates from the Market Rate System (MRS) issued by the Government of Punjab (District Jhang 1 <sup>st</sup> biannual of year 2023). For items not available in the MRS, the same have been analyzed as per				
	prev	ailing market rates.			
	The physical and financial requirements, year wise are included in the following table:				
estimation of	<b>S.</b> #	k Name of road / chowk	202	Year 22-2023	
physical activities	1	MCB Bank Chowk	-	100%	
	2	Circuit House Chowk	-	100%	
	3	Bund Chowk 1	-	100%	
	4	Khatme Naboowat Chowk		100%	
	5	Bund Chowk 2		100%	
	6 Educational Complex Chowk			100%	
	7	Adaywal Chowk	100%		
iv- Phasing of capital cost on the basis of each item of work.	table	(All figures are in million rupees)		Number of the second se	
	S. #	Items of Road/chowk	Total (PKR million)	Year 2022-2023 (100%)	
	1	Civil Works			
	i	MCB Bank Chowk	1.791	1.791	
	ii.	Circuit House Chowk	0.076	0.076	
	iii.	Bund Chowk 1	5.793	5.793	
	iv.	Khatme Naboowat Chowk	1.470	1.470	
	v.	Bund Chowk 2	1.500	1.500	
	vi.	Educational Complex Chowk	0.293	0.293	
	vii.	Adaywal Chowk	1.020	1.020	
		Total Amount Rs. (1)	11.945	11.945	
	2	Chowks Beautification			

	i.	MCB Bank Chowk	3.894	3.894
	ii.	Educational Complex Chowk	7.786	7.786
	iii.	Circuit House Chowk	2.053	2.053
	iv.	Khatme Naboowat Chowk	2.478	2.478
	v.	Bund Chowk 2	4.410	4.410
	vi.	Adaywal Chowk	7.158	7.158
		Total Amount Rs. (2)	27.510	27.510
	3	Drainage Works	1.284	1.284
	4	ENVIRONMENTAL MITIGATION & MANAGEMENT COST	0.509	0.509
		Total Amount (1+2+3+4)	41.250	41.250
		Horticulture @ 1%	0.412	0.412
		Contingencies @ 2%	0.825	0.825
		PRA Charges @ 5%	2.062	2.062
		Escalation @ 6%	2.475	2.475
		Total Amount (Million Rs)	47.026	47.026
8-Annual recurrent cost after completion of the project and source of financing Note: The roads are already being repaired and maintained by Committee, Jhang out of its own financial resources. No a will be required after completion of the improvement and u the roads, rather the repairs cost will be reduced for the However, the efficiency of the infrastructure and service will be improved after completion of the project.				dditional cost o gradation of initial years. delivery level
<ul> <li>9- Demand &amp; Supply Analysis</li> <li>i- Existing Capacity of services</li> </ul>	<ul> <li>Existing supply level</li> <li>Existing geometry of the roads and chowk is not well enough to sustain the smooth traffic flow. Existing pavement structure of the roads and chowk is deteriorated which needs the rehabilitation to bear the traffic loading and better riding quality.</li> <li>Municipal Committee, Jhang is unable to render satisfactory service to the entire area of the city because of degraded infrastructure wherein some rehabilitation and improvement are direly needed but MC could not be able to accomplish them because of low revenue recovery and funding constraints. Very few areas are reasonably served but others are deprived of the required level of the service. This is resulting in low credibility of the municipal services and citizen dissatisfaction. Further the infrastructure has not been developed and extended keeping in pace with the growth of population mainly due to migration from rural areas to urban areas. The market prices of the</li> </ul>			

	materials and labor have also increased drastically during the last decade which increased the O&M cost of services. This has further degraded the situation and the service delivery level is further deteriorating.
ii- Projected Demand for 10 years	<ul> <li>The municipal services require radical improvement to enhance the efficiency of the service to increase service delivery to a satisfactory level. For this purpose, the existing infrastructure will have to be improved.</li> <li>Many shortcomings, problems and bottlenecks have been observed in the existing infrastructure which could not be addressed by MC due to funding constraints and now have been proposed to be addressed by rehabilitation of defective and outlived components of all the municipal services infrastructure.</li> </ul>
<ul> <li>iii- Capacity of other similar projects being implemented in public/private sector</li> </ul>	No other project of this nature is being implemented in public as well as private sector because of funding constrains in the Unit.
iv- Supply and Demand gaps	<ul> <li>The nature of supply and demand gap has been explained in the preceding paras which concludes;</li> <li>Existing condition of the road network is not good enough to bear the traffic load. It's causing excessive delays, increasing travel time, occurring accidents at intersections and vehicles wear and tear due to the poor condition of pavement surface. Increasing traffic load requires the improvement of existing road network and chowk.</li> <li>The existing infrastructure has poor efficiency resulting in unsatisfactory service delivery level.</li> <li>The O&amp;M cost of the infrastructure services is very high because of low efficiency and high market rates while there in a large gap between the O&amp;M expenditure and the revenue recovery.</li> <li>Large subsidies are being injected by MC to the keep the services in operation</li> <li>Numerous public complaints are the talk of the day.</li> <li>Unsatisfactory municipal delivery is not encouraging the city to become engines of economic growth and hence the GDP of our city is much lower than the peers in the developing world.</li> </ul>

	1. Improvement of this chowks will decrease	e the travel time of		
v-Designed capacity and output of the project	commuters which will ultimately improve the economy of city.			
10. Financial Plan	Below given loan for the Punjab Cities Program has been funded by World Bank for 16 PCP cities in Punjab.			
Sources of financing	Total loan to Government of Pakistan/Punjab	USD 200 million		
Debt	Component-1 for Infrastructure Development	USD 180 million		
a) Indicate the local and foreign debt Loan	d Component-2 for Investment Project Financing For capacity building of MCs & three Govt. USD 20 milli organization and program management.			
	20% share of Municipalities is equivalent to	USD 36 million		
	Total funds available for Infrastructure Development	USD 216 million		
	This project will be funded under this financing.			
A. Loan/grant to INC         The amount of loan converted to grant to Jhang Unit will         (37.620 million) The financing of the project will be as below:				
b) Equit <b>y</b>	Grant to Unit for the year 2022-2023 PKR 37. (80% of cost of PC-I)	620 million		
	20% Co-finance by MC (20% of the cost of PC-I)PKR 9.4	05 million		
	Total available fundsPKR 47.	026 million		
	<ul> <li>B. Project Cost PKR 47.026 million</li> <li>*The loan is from World Bank to Government of Pa will trickle down to Jhang Unit as grant.</li> </ul>	kistan/Punjab which		
c) Grants	No grant is being given by Government of Punjab out of ADP funds. The World Bank loan to Government of Pakistan/Punjab will trickle down as grant to MC from Government of Punjab.			
d) Weighted cost of capital	Nil			
11-Project benefits and a	analysis			
i.Financial:	• The project comprises of improvement of roads a city.	nd cross roads in the		

Income to the project with assumption	<ul> <li>Jhang Unit has no plan to levy user charges /toll tax on the roads as these are internal roads of city and levying of toll tax is not feasible.</li> <li>However, it is an infrastructure sector project but the capital cost of the project is not intended to be recovered. The unit will meet the cost of repair and maintenance out of its own resources. The project economic analysis is given as Annexure-C.</li> <li>The completion of the project will result in:</li> </ul>
target group	<ul> <li>Up gradation of the infrastructure.</li> <li>Enhanced life of the roads and chowks.</li> <li>Reduction in travelling time of the commuters.</li> <li>Reduction of road accidents.</li> <li>Reduction in consumption of POL resulting in saving of the foreign exchange.</li> <li>Reduction in the operation and maintenance cost of the vehicles.</li> <li>Improvement in the environment of the city;</li> <li>Minimized public mental tension and frustration</li> <li>Improvement of city growth potential</li> </ul>
iii.Environmental Impact negative/positive	Construction/Rehabilitation of Roads and their subsequent long-term use lead to many changes in the environment. There will be some negative impacts during rehabilitation of the Roads and Chowks in the form of noise of the machinery, dismantling of the existing roads, dust pollution, nuisance caused by higher traffic, risked caused by animal intersecting routes or consequences of any crossing water courses etc. Therefore, it is recommended to develop variant solutions in order to choose the one that would be least harmful to the environment, and then to incorporate them in an Environmental and Social Management Framework. However, the impacts will be temporary and there will be no negative impacts after completion of the project, rather, positive impacts, because of improvement in environments of the city, will be observed and present traffic hazards and jams will be eliminated. Hence overall positive impacts will be experienced due to execution and operation of the sub- projects. To facilitate the selection of an optimal solution and for the inclusion of Safe Operating Procedures for Construction workers/labors; assessment indicators or an Environmental Screening Checklists have been developed which is attached as Annexure E (A) of this PC-1. The checklist focuses on Environmental Issues and social concerns and ensure that all environmental and social dimensions are adequately considered.

	E&S Screening & Involuntary resettlement checklists and Environment			
	& Social Mitigation plan will also be the part of the bidding documents.			
iv.Quantifiable project	The quantifiable project out puts have b	been given above in Sr. No-9 (V).		
outputs	The social benefits to the citizen have b	been described at Sr. No-11(ii).		
Ĩ				
v.Unit cost analysis	The unit cost analysis is produced below	w;		
	Project capital cost	PKR 47.026 million		
	Population of the city in year 2023	450.330 persons		
	Unit capital cost per capita	PKR 104.42		
		<u> </u>		
	• Unit R&M cost: – The Repair & maintenance cost is already being			
	improvement of the infrastructure R	& M cost will reduce for at least 5		
	vears after completion of the project			
		·		
vi.Employment	Employment Analysis			
generation	Direct Employment			
(direct and indirect)	<ul> <li>a) Planning and Design of projects The planning and design of the project has been entrusted to local consultants who have appointed staff and experts in road and related disciplines along with their support staff. The consultants will also appoint their staff for resident supervision of the project to verify and certify the items of works to be executed under this PC-I. </li> <li>b) Execution of the Project</li></ul>			
	<i>a)</i> <b>FINDEC</b> PMDEC has the project monito	ring and supervisory role and the		
	company has enough expert	ts and staff to complete this		
	assignment. PMDFC has already deployed under mentioned staff			
	for these projects:			
	Civil Engineers			
	Accounts, administration and au	udit personnel		
	Urban planners	1		
	GIS experts			
	Support staff like computer oper	rators, vehicle drivers, office boys		
	and guards.			
	Procurement experts			
	Communication experts			
	Environmental and social exper	ts		

	<ul> <li>Contract management experts</li> <li><i>Consultants</i>         PMDFC has employed consultants for detailed design and resident supervision of the projects who will deploy their staff for execution of the project.     </li> <li><i>Municipality</i>         Jhang Unit has regular staff like engineers, sub engineers and other administrative &amp; accounts keeping staff which will be responsible for execution of the project and contract management. No additional staff will be needed for execution of this project     </li> </ul>
	The contractor responsible for execution of the sub project will employ skilled and un-skilled labor on this work.
	Indirect Employment
	Indirect employment for production of material such as cement, steel, stone metal, bitumen, bricks etc. will be generated.
vii.Impacts of delays on project cost and viability	<ul> <li>The impact of delay in project implementation will;</li> <li>Result in increased project cost due to escalation in cost of material and labor.</li> <li>Delay the benefits to the target group</li> <li>Result in further deterioration of the infrastructure and the service delivery level.</li> </ul>
12-Implementation Sche	dule
<ul> <li>a) Indicate starting and completion date of the project</li> </ul>	The project is anticipated to commence by july 2023 and to be completed by Sep 2023 with project implementation period of 3 months.
b) Item wise/year wise schedule in line chart	The Gant chart has been attached at Annexure-D
13- Management Structu	re and manpower requirements
i. Administrative arrangements for the implementation of the project	<ul> <li>ii. Planning &amp; design of the project The project has been designed by the consultants employed by PMDFC and will also carry out the resident supervision of the project. </li> <li>iii. Preparation of cost estimation The cost estimates have been prepared by the design consultants by actual measurements are required at site. The execution of the items of works included in these estimates /PC-I will be certified by these consultants. iv. Execution of the project</li></ul>

	v.	<ul> <li>The proje supervised supervised supervised oversee, design an located in to LG &amp; responsib</li> <li>MO (I&amp;S /Engineer will also to support en MC.</li> <li>The proce Unit of Jh Verification Supervision In consultants win the PC-Is quality of we payments. Pactains have I Manager/Engineer</li> </ul>	ct will b d by the on mode co-ordir d imple Lahore CDD & ility of H of the ngineeri urement ang Uni of qu of the w ill be su node by ill verify and cost orks inc yments been ent ineer in	e executed by Municipal Committee, Jhang and consultants appointed by PMDFC in resident the technical staff & experts in PMDFC will nate and collaborate in the project planning, mentation through their experts in head office and regional offices. The reporting of progress the World bank and troubleshooting will also be PMDFC. The unit has been designated as Project Manager rege of the project. The supervision of the works d out by these municipal officers along with their ng staff. All supervisory staff is available with of works and goods will be done by Procurement at as per PPRA Rules. <b>antities included in PC-Is and Resident</b> <b>rorks by consultants</b> pervised by Supervision Consultants in resident assuring the quantity and quality of works. The y the items of work and their quantities contained t estimates initially and then the quantities and luded in the contractor claims at the stage of will be made by the Unit after these contractor tered in the measurement books by the Project Charge and pre audited as per LG Works Rules.
<ul><li>ii- The manpower requirements by skills during execution and operation of the project and;</li><li>The job description,</li></ul>	a) b)	PMDFC exp For rendering a 16 MCs, PMI order to facilit established Multan/Khane Resident Su	Derts and assistance DFC has ate the l by PM wal. pervisio	d staff ce in implementation of infrastructure projects in the experts and staff in the required fields. In Program Units, three regional offices have been MDFC at Gujranwala, Faisalabad and on Consultants
qualification, experience, age and salary of each post		The project wi employed/dep of works and r	ill be sup loyed by resident	pervised by consultants. The tentative staff to be the consultants for the certification of quantities supervision of the project is given below.
	S #	Personnel	Nos	Qualification
	1	Chief Resident Engineer/Team Leader	01	BSc;/BE in Civil engineering from HEC approved University with minimum 20 years' professional experience and 5 years' experience on similar assignment or MSC; Civil Engineering/Public Health Engineering/Environmental Engineering with Bachelor in Civil Engineering and minimum 15 years, experience.

			with 5 years on similar assignments on urban planning, designing and construction supervision assignment.
2	Assistant Resident Engineer	01	Bachelor Degree in Civil engineering with minimum 8 years' experience in site supervision and execution for projects of similar nature
3	Environmental ist	01	Bachelor Degree in Environmentalist/ Environmental Sciences with minimum 16 years education and 5 years' experience in site supervision and execution for projects of similar nature
4	social Safeguards /Resettlement Specialist	01	Master Degree in Sociology Sciences with minimum 18 years education and 5 years' experience in site supervision and execution for projects of similar nature
5	Site Inspectors	01	DAE in Civil with minimum 10 years' experience in site supervision for projects of similar nature
	k non skilled supervised by of slots for eng type and quant	d labor experie: gineers tity of v	employ the supervisory technical staff and skilled for execution of works. The works will be nced Engineers and sub engineers and the number and skilled and non-skilled will depend upon the work and its period of completion.
d)	A non skilled supervised by of slots for eng type and quant <b>Repair &amp; mai</b> MC has its ow maintenance of	d labor experies gineers tity of v intenan vn regul	employ the supervisory technical staff and skilled for execution of works. The works will be need Engineers and sub engineers and the number and skilled and non-skilled will depend upon the work and its period of completion. <b>The of the project</b> lar staff which has been deployed for repair and nunicipal services infrastructure. However, it has
d)	A non skilled supervised by of slots for eng type and quant <b>Repair &amp; mai</b> MC has its ow maintenance of been observed maintain the se Hence it is pro-	try will e d labor experies gineers tity of v intenan vn regul of the m d that t ervices i oposed t	employ the supervisory technical staff and skilled for execution of works. The works will be need Engineers and sub engineers and the number and skilled and non-skilled will depend upon the work and its period of completion. <b>Ace of the project</b> lar staff which has been deployed for repair and nunicipal services infrastructure. However, it has he existing staff is not adequate to repair and in a manner which can give good service delivery.
d)	A non skilled supervised by of slots for eng type and quant <b>Repair &amp; mai</b> MC has its ow maintenance of been observed maintain the se Hence it is pro	s will e d labor experies gineers tity of v intenan vn regul of the m d that t ervices i oposed t the pre	employ the supervisory technical staff and skilled for execution of works. The works will be need Engineers and sub engineers and the number and skilled and non-skilled will depend upon the work and its period of completion. <b>Ace of the project</b> lar staff which has been deployed for repair and nunicipal services infrastructure. However, it has he existing staff is not adequate to repair and in a manner which can give good service delivery. so; sently vacant slots
1)	A non skilled supervised by of slots for eng type and quant <b>Repair &amp; mai</b> MC has its ow maintenance of been observed maintain the se Hence it is pro- • Fill up • Recrui obtaini	d labor experies gineers tity of v intenan vn regul of the m d that t ervices i posed t the pre t addition	employ the supervisory technical staff and skilled for execution of works. The works will be need Engineers and sub engineers and the numbe and skilled and non-skilled will depend upon the vork and its period of completion. <b>Ace of the project</b> lar staff which has been deployed for repair and nunicipal services infrastructure. However, it has he existing staff is not adequate to repair and in a manner which can give good service delivery to; sently vacant slots onal staff as per need of the infrastructure after sanctions from the competent authorities.

14 Additional projects	1)Shortage & frequent transfers of Provincially appointed staff
/decisions required to	MC is facing shortage in provincially appointed and locally appointed
optimize the investment	cadres. This will seriously affect the pace of progress of the program
being undertaken	and the implementation of the infrastructure projects may be delayed.
	Provincial Government should fill up the vacant staff immediately for
	optimizing the investments in MC.
	2) Repair & Maintenance (R&M) staff The R&M staff is also deficient and this is adversely affecting the service delivery level. Number of slots are vacant but MC is not allowed to recruit the persons to fill these slots due to ban on
	recruitments. Further the sanctioned strength of the field staff is much lesser than the actual requirement because with the increase in population and extension of services, additionally required staff has not been sanctioned by the competent authorities. Both of the above issues need to be addressed for optimal utilization of the investments and giving targeted benefits to the resident population of these cities.
15-Certificate	Certified that the project proposal has been prepared on the basis of guidelines provided by the Planning Commission for the preparation of PC-I for social sectors projects.

Prepared	JERS Consultancy (Pvt) Ltd	Signatures	
by			
Checked	Municipal Officer (Infrastructure)	Signatures	
by	Municipal Committee, Jhang		
	Chief Officer	Signatures	
	Municipal Committee, Jhang		
	Administrator	Signatures	
	Municipal Committee, Jhang		
Vetted by	Senior Program Officer	Signatures	
-	PMDFC	-	
	-		

# Annexure-B Engineer Cost Estimate

#### PUNJAB CITIES PROGRAM (PCP) DETAILED DESIGN OF INFRASTRUCTURE SUB-PROJECTS AND RESIDENTS SUPERVISION IN 16 CITIES OF PUNJAB

#### **ROAD WORK**

#### MC JHANG

#### DETAILED COST ESTIMATE

#### SUMMARY

Sr. No.	Description	Amount (Rs.)
1	CIVIL WORKS	11,945,604
2	CHOWK BEAUTIFICATION	27,510,048
3	DRAINAGE SYSTEM	1,286,168
4	ENVIRONMENTAL MITIGATION & MANAGEMENT COST	509,100
	Total Amount (Rs.)	41,250,919
	Horticulture @ 1%	412,509.19
	Contingencies @ 2%	825,018
	PRA Charges @ 5%	2,062,546
	Escalation @6%	2,475,055
	Total Amount. Rs.	47,026,048
	Say Millions	47.026

	PUNJAB CITIES PROGRAM (PCP) DETAILED DESIGN OF INFRASTRUCTURE SUB-PROJECTS AND RES	SIDENTS
	SUPERVISION IN 16 CITIES OF PUNJAB	
	MC HANC	
	DETAILED COST ESTIMATE	
	SUMMARY	
~		
Sr. No.	Description	Amount (Rs.)
1	CIVIL WORKS	
i	MCB Bank Chowk	1,791,240
ii	Circuit House Chowk	76,570
iii	Bund Chowk 1	5,793,685
iv	Khatme Naboowat Chowk	1,470,891
v	Bund Chowk 2	1,500,000
vi	Educational Complex Chowk	293,146
vii	Adaywal Chowk	1,020,072
	1) Total Amount. Rs.	11,945,604
2	Chowk Beautification	
i	MCB Bank Chowk	3,894,000
ii	Educational Complex Chowk	7,786,584
iii	Circuit House Chowk	2,053,200
iv	Khatme Naboowat Chowk	2,478,000
v	Adaywal Chowk	7,158,264
vi	Bund Chowk 2	4,140,000
	2) Total Amount. Rs.	27,510,048
3	Drainage Works	
i	Bund Chowk 1	1,286,168
		7 - 7 - 7
4	ENVIRONMENTAL MITIGATION & MANAGEMENT COST	509,100
	Total Amount (Rs.) "1+2+3+4"	41,250,919
	Say Millions	41.25



	Ы	PUNJAB CITIES PROGI	RAM (	PCP)	DECIDENTS	1		
	DI	STAILED DESIGN OF INFRASTRUCTURE S SUPERVISION IN 16 CITIE	UB-PE S OF 1	KOJECIS AN PIINIAR	D RESIDENTS	)		
		DETAILED COST ES	TIMA'	ГЕ				
		MCB BANK CHO	WK					
		ROADS NETWO	RK					
1st BI-Annual-								
Sr. No	2023 (Jan to Jun) Jhang	Description	Unit	Quantity	Unit Rate (Rs.)	Amount (Rs.)		
		Grey Structure Work						
1	N.S	Excavation deep: 3ft circle: 14' x 14' 1) First class 14' x 14' x 2.50' deep Road level height 2.50' from road level 2) 2nd square 12' x 12' x 6.50' deep Road level height 2.50' from road level 3) Brick Ballast work + PCC + RCC Raft for columns 1x1 ft height: 18ft <b>Brick Work in Super Structure</b> Brick Work in Super Structure with room in all respect DPC Electric Work GM Cable Black Horse Weather shield paint <b>Light Detail:</b> 18 LED Small lights 20 watts 5 large lights of 50 watts	Each	1.00	1,791,240	1,791,240		
		Total Cost A				1 701 240		
						1,771,240		
2	N.S	4 Ply fiber cladding, steel structure 1/2 angle , 1 inch pipe 4 piece electric digital Clock 4 Sided Kalma Rooftop AllAH Sculpture Enamel paint finish Transportstion, Installation 4 Planters , 4 base basket	Each	1.00	3,894,000	3,894,000		
		Total Cost B				3,894,000		
		Total Amount (A+B)				5,685,240		

	DF	PUNJAB CITIES PROGR TAILED DESIGN OF INFRASTRUCTURE SI	RAM (PCF UB-PROJ	') ECTS AND F	RESIDENTS						
		SUPERVISION IN 16 CITIES	S OF PUN	JAB							
	DETAILED COST ESTIMATE										
		EDUCATIONAL COMPLE	EX CHOW	K							
	ROADS NETWORK										
Sr. No	1st BI-Annual- 2023 (Jan to Jun)	Description	Unit	Quantity	Unit Rate (Rs.)	Amount (Rs.)					
	Jhang				(=)	(=)					
		Excavation									
1	3/7	Earthwork excavation in open cutting upto 5'-0" (1.5 m) depth for storm water channels, drains, sullage drains in open areas, roads, streets, lanes, including under pinning of walls and shoring to protect existing works, shuttering and timbering the trenches, dressed to designed level and dimensions, trimming, removal of surface water from trenches, back filling and surplus excavated material disposed of and dressed within 50 ft. (15 m) lead:- i) ordinary Compaction of Earthwork Compaction of earthwork with power road roller, including ploughing, mixing, moistening earth to optimum moisture content in layers, etc.	1000Cft	0.38	9,852.50	3,744					
		<ul><li>i) 95% to 100% maximum modified AASHO dry density.</li></ul>	1000Cft	0.38	1,509.00	573					
-	10/2/ /	Sub Base Course									
3	18/3/a/ (i) + 1/1	Providing and laying sub-base course of stone product of approved quality and grade including, placing, mixing, spreading and compaction of sub base material to required depth, camber and grade to achieve 98% maximum dry density determined according to AASHTO T-180 method-D, including carriage of all material to site of work complete in all respect as per specifications and as directed by the engineer incharge. (Crushed stone aggregate from Sargodha querry to site, actual compacted depth shall be considered for payment)	10000	2.75	16 128 05	<b>CO 501</b>					
			100Cft	3.75	16,138.95	60,521					
		Kerb Stone									
4	6/52/b	Providing and fixing precast Edge Kerb Stone (4" to 6" thick), of 3500 PSI Compressive Strength, embeded in PCC 1:2:4 over lean concrete 1:4:8 etc. complete in all respect. b) With Painting									

	DF	PUNJAB CITIES PROGR	AM (PCI	?) FCTS AND F	FSIDENTS						
	DI	SUPERVISION IN 16 CITIES	S OF PUN	IJAB							
		DETAILED COST EST	IMATE								
	EDUCATIONAL COMPLEX CHOWK										
	ROADS NETWORK										
Sr. No	1st BI-Annual- 2023 (Jan to Jun) Jhang	t BI-Annual- 2023 (Jan to Jun) JhangDescriptionUnitQuantityUnit Rate (Rs.)(i) 14" highP.Rft150.00535.05									
		(i) 14" high	P.Rft	150.00	535.05	80,258					
5	10/41	<b>Tuff Paver</b> Providing and laying Tuff pavers, having 7000 PSI, crushing strength of approved manufacturer, over 2" to 3" sand cushion i/c grouting with sand in joints i/c finishing to require slope. complete in all respect. (50% Grey / 50% Coloured)									
		c) 80-mm thick	Sft	750.00	197.40	148,050					
		Total Amount Rs. "A"				293,146					
6	N.S	Complete wall relief and Alphabet work with all respect, Brick work Plaster as per requirement, weather shield paint finish , Electrical work GM cable. Light Detail: 10 small LED Lights 50 Watts 10 large LED Lights 100 Watts Material Detail: 4 ply fiber glass sheet, Iron, Structure, 16 guage pipe, Flate Rhodes With all respect relief work = 6500 Per Sft	Each	1.00	7,786,584	7,786,584					
		Total Amount Rs. "B"				7,786,584					
		Total Amount Rs. "A+B"				8,079,730					

	PUNJAB CITIES PROGRAM (PCP) DETAILED DESIGN OF INFRASTRUCTURE SUB-PROJECTS AND RESIDENTS								
	SUPERVISION IN 16	CITI	ES OF PUN	NJAB					
	EDUCATIONAL CO	OMPI	LEX CHOU	VK					
	ROADS	WOR	K	3					
Sr. No	Description	No.	Length	Width	Height	Qty.	Unit.		
	Excavation								
1	Earthwork excavation in open cutting upto 5'-0" (1.5 m) depth for storm water channels, drains, sullage drains in open areas, roads, streets, lanes, including under pinning of walls and shoring to protect existing works, shuttering and timbering the trenches, dressed to designed level and dimensions, trimming, removal of surface water from trenches, back filling and surplus excavated material disposed of and dressed within 50 ft. (15 m) lead:-	1	150	5.00	0.50 Total	<u> </u>	Cft Cft		
					Total.	0.38	%Cft		
	Compaction of Farthwork								
2	Compaction of earthwork with power road roller, including ploughing, mixing, moistening earth to optimum moisture content in layers, etc. complete. i) 95% to 100% maximum modified AASHO dry density.								
	Footpath	1	150	5.00	0.50	375	Cft		
					Total	375	Cft		
					Total.	0.38	%oCft		
	Sub Base Course								
3	Providing and laying sub-base course of stone product of approved quality and grade including, placing, mixing, spreading and compaction of sub base material to required depth, camber and grade to achieve 98% maximum dry density determined according to AASHTO T-180 method-D, including carriage of all material to site of work complete in all respect as per specifications and as directed by the engineer incharge. (Crushed stone aggregate from Sargodha querry to site, actual compacted depth shall be considered for payment)								
	Footpath	1	150	5.00	0.50	375	Cft		
					Total	375	Cft		
					Total.	3.75	%Cft		

	PUNJAB CITIES PROGRAM (PCP)										
	DETAILED DESIGN OF INFRASTRUCTURE SUB-PROJECTS AND RESIDENTS										
	SUPERVISION IN 16 CITIES OF PUNJAB										
	EDUCATIONAL COMPLEX CHOWK										
	CALCULATION OF QUANTITES										
	ROADS	WOR	K								
Sr											
No	Description	No.	Length	Width	Height	Qty.	Unit.				
4	Providing and fixing precast Edge Kerb Stone (4" to						ĺ				
	6" thick), of 3500 PSI Compressive Strength, embedded										
	in PCC 1:2:4 over lean concrete 1:4:8 etc. complete in										
	all respect.										
	b) With Painting										
	(i) 14" high						ĺ				
		1	150			150	Rft				
		ļ			Total.	150	Rft				
		ļ		-			ļ				
	Tuff Paver										
5	Providing and laying Tuff pavers, having 7000 PSI,										
	crushing strength of approved manufacturer, over 2"										
	to 3" sand cushion i/c grouting with sand in joints i/c										
	finishing to require slope. complete in all respect.										
	(50% Grey / 50% Coloured)										
	c) 80-mm thick										
		1	150	5.00		750	Sft				
					Total	750	Sft				
					10000	,50					
							[				

	DI	PUNJAB CITIES PROGE ETAILED DESIGN OF INFRASTRUCTURE S SUPERVISION IN 16 CITIE	RAM (P UB-PR S OF P	PCP) OJECTS AN UNJAR	D RESIDEN	ГS
		DETAILED COST EST	ГІМАТ	E		
		CIRCUIT CHOW	VK			
		ROADS WORK	ζ.			
Sr. No	1st BI-Annual- 2023 (Jan to Jun) Jhang	Description	Unit	Quantity	Unit Rate (Rs.)	Amount (Rs.)
		Kerb Stone				
1	6/52/b	Providing and fixing precast Edge Kerb Stone (4" to 6" thick), of 3500 PSI Compressive Strength, embeded in PCC 1:2:4 over lean concrete 1:4:8 etc. complete in all respect.				
		b) With Painting		100.00		
		(1) 14" high	P.Rft	100.00	535.05	53,505
2	3/32	Turfing slopes of banks or lawns with grass sods including ploughing, laying, setting and watering (Turf got from within a distance of 5 miles (8				
		Km.) and maintenance for 15 days).	100Sft	7.07	1,848.00	13,065
3	N.S	Dismantling of Existing Monument	Provisi onal Sum	1.00	10,000	10,000
		Total Amount Rs. "A"				76,570
		Monument				
4	N.S	Providing and fixing Monument including 4 ply fiber cladding, steel structure 1/2 angle, 1inch pipe, 4 LED Lights, Enamel paint finsh, transportation & Installation complete in all respect as per specifications and as directed by				
		ule Engineer incharge.	Each	1.00	2,053,200	2,053,200
		Total Amount Rs. "B"				2,053,200
		Total Amount Rs. "A+B"				2,129,770

	PUNJAB CITIES PROGRAM (PCP)										
	DETAILED DESIGN OF INFRASTRUCTURE SUB-PROJECTS AND RESIDENTS SUDED VISION IN 16 CUTIES OF DUNLAD										
	CIRCUIT CHOWK										
	CALCULATION OF OUANTITES										
	ROADS WORK										
G											
Sr. No	Description	No.	Length	Width	Height	Qty.	Unit.				
	Kerb Stone										
1	Providing and fixing precast Edge Kerb Stone (4" to										
	6" thick), of 3500 PSI Compressive Strength, embeded										
	in PCC 1:2:4 over lean concrete 1:4:8 etc. complete in										
	all respect.										
	b) With Painting										
	(1) 14 <sup></sup> high		100.00			100					
		1	100.00			100	Rft				
					Total.	100	Rft				
2	Turfing slopes of banks or lawns with grass sods										
I	including ploughing, laying, setting and watering (Turf										
	including ploughing, laying, setting and watering (Turf got from within a distance of 5 miles (8 Km.) and										
	including ploughing, laying, setting and watering (Turf got from within a distance of 5 miles (8 Km.) and maintenance for 15 days).										
	including ploughing, laying, setting and watering (Turf got from within a distance of 5 miles (8 Km.) and maintenance for 15 days).	1	707	1.00		706.95	Sft				
	including ploughing, laying, setting and watering (Turf got from within a distance of 5 miles (8 Km.) and maintenance for 15 days).	1	707	1.00		706.95	Sft				
	including ploughing, laying, setting and watering (Turf got from within a distance of 5 miles (8 Km.) and maintenance for 15 days).	1	707	1.00	Total	706.95 7.07	Sft %Sft				
	including ploughing, laying, setting and watering (Turf got from within a distance of 5 miles (8 Km.) and maintenance for 15 days).	1	707	1.00	Total	706.95 7.07	Sft %Sft				
	including ploughing, laying, setting and watering (Turf got from within a distance of 5 miles (8 Km.) and maintenance for 15 days). Monument	1	707	1.00	Total	706.95 7.07	Sft %Sft				
1	including ploughing, laying, setting and watering (Turf got from within a distance of 5 miles (8 Km.) and maintenance for 15 days). Monument Providing and fixing Monument including 4 ply fiber aladding, steal structure 1/2 and a line size. 4 LED	1	707	1.00	Total	706.95 7.07	Sft %Sft				
	including ploughing, laying, setting and watering (Turf got from within a distance of 5 miles (8 Km.) and maintenance for 15 days). Monument Providing and fixing Monument including 4 ply fiber cladding, steel structure 1/2 angle, 1inch pipe, 4 LED Lights Enamel paint finch transportation &	1	707	1.00	Total	706.95 7.07	Sft %Sft				
1	including ploughing, laying, setting and watering (Turf got from within a distance of 5 miles (8 Km.) and maintenance for 15 days). Monument Providing and fixing Monument including 4 ply fiber cladding, steel structure 1/2 angle, 1inch pipe, 4 LED Lights, Enamel paint finsh, transportation & Installation complete in all respect as per	1	707	1.00	Total	706.95	Sft %Sft				
1	including ploughing, laying, setting and watering (Turf got from within a distance of 5 miles (8 Km.) and maintenance for 15 days). Monument Providing and fixing Monument including 4 ply fiber cladding, steel structure 1/2 angle, 1inch pipe, 4 LED Lights, Enamel paint finsh, transportation & Installation complete in all respect as per specifications and as directed by the Engineer	1	707	1.00	Total	706.95 7.07	Sft %Sft				
1	including ploughing, laying, setting and watering (Turf got from within a distance of 5 miles (8 Km.) and maintenance for 15 days). Monument Providing and fixing Monument including 4 ply fiber cladding, steel structure 1/2 angle, 1inch pipe, 4 LED Lights, Enamel paint finsh, transportation & Installation complete in all respect as per specifications and as directed by the Engineer incharge.	1	707	1.00	Total	706.95 7.07	Sft %Sft				

	PUNJAB CITIES PROGRAM (PCP) DETAILED DESIGN OF INFRASTRUCTURE SUB-PROJECTS AND RESIDENTS								
	SUPERVISION IN 16 CITIES OF PUNJAB								
		DETAILED COST EX	STIMATE 717						
		BUND CHOW	OPK						
		KOADS NET W							
Sr. No	1st BI-Annual- 2023 (Jan to Jun) Jhang	Description	Unit	Quantity	Unit Rate (Rs.)	Amount (Rs.)			
		Excavation							
1	3/7	Earthwork excavation in open cutting upto 5'-0" (1.5 m) depth for storm water channels, drains, sullage drains in open areas, roads, streets, lanes, including under pinning of walls and shoring to protect existing works, shuttering and timbering the trenches, dressed to designed level and dimensions, trimming, removal of surface water from trenches, back filling and surplus excavated material disposed of and dressed within 50 ft. (15 m) lead:-							
		i) ordinary	1000Cft	7.50	9.852.50	73.894			
			1000011		,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,				
		Compaction of Earthwork							
2	3/25	Compaction of earthwork with power road roller, including ploughing, mixing, moistening earth to optimum moisture content in layers, etc. complete. i) 95% to 100% maximum modified AASHO dry density.	1000Cft	3.75	1,509.00	5,659			
		Sub Base Course							
3	18/3/a/ (i) + 1/1	Providing and laying sub-base course of stone product of approved quality and grade including, placing, mixing, spreading and compaction of sub base material to required depth, camber and grade to achieve 98% maximum dry density determined according to AASHTO T-180 method-D, including carriage of all material to site of work complete in all respect as per specifications and as directed by the engineer incharge. (Crushed stone aggregate from Sargodha querry to site, actual compacted depth shall be considered for payment)							
			100Cft	37.50	16,138.95	605,211			

	PUNJAB CITIES PROGRAM (PCP) DETAILED DESIGN OF INFDASTDUCTUDE SUD DEOLECTS AND DESIDENTS									
	DETAILED DESIGN OF INFRASTRUCTURE SUB-PROJECTS AND RESIDENTS SUPERVISION IN 16 CITIES OF PUNJAR									
	DETAILED COST ESTIMATE BUND CHOWK									
		ROADS NETW	ORK							
~	1st BI-Annual-									
Sr.	2023 (Jan to	Description	Unit	Quantity	Unit Rate	Amount				
INO	Jhang				(KS.)	(KS.)				
		Water Bound Macadam								
4	18/4/a	Providing and laying base course of crushed								
	+	stone (Water Bound Macadam) of approved								
	1/1	quality and grade including, placing, mixing,								
		material to required depth camber and grade to								
		achieve 100% maximum modified AASHTO dry								
		density, including carriage of all material to site								
		of work complete in all respect as per								
		specifications and as directed by the engineer								
		incharge. (Crushed stone aggregate from								
		Sargodha querry to site, actual compacted depth								
		shall be considered for payment)								
			100Cft	24.75	21,253.10	526,014				
_	10/1	Prime Coat								
5	18/6	Providing and laying bituminous priming coat,								
		100 Sft or 0.5 Kg kerosene and 0.5 Kg binder per								
		square metre.	100\$ft	171.00	1 968 15	336 554				
			100511	171.00	1,700.15	550,554				
		Carpeting								
		AWC								
6	18/10/a	Providing and laying plant premixed bituminous	Per inch							
	+	carpet, including compaction and finishing to	thickness							
	1/1	required camber, grade and density. (2 inch thick)	per 100Sft.							
		(IV) 4.5% Bitumen		135.00	14,635.25	1,975,759				
		Doint For Troffic Long								
7	13/36									
,	15/50	Painting Traffic Lane Marking of specified width								
		(1.5mm thick), with Thermoplastic (TP) Paint								
		including Glass Beads, complete in all respect, as								
		approved and directed by Engineer incharge.								
		ii) 6" wide	Rft	1,500.00	59.20	88,800				
		Kerb Stone								
8	6/52/b	Providing and fixing precast Edge Kerb Stone (4"								
		embeded in PCC 1.2.4 over lean concrete 1.4.8								
		etc. complete in all respect.								
		b) With Painting								
		(i) 14" high	P.Rft	1,000.00	535.05	535,050				

	I	PUNJAB CITIES PROG DETAILED DESIGN OF INFRASTRUCTURE	FRAM (PC) SUB-PRO	CP) DJECTS AND	RESIDENTS				
		SUPERVISION IN 16 CITI	ES OF PU	NJAB					
	DETAILED COST ESTIMATE RUND CHOWK								
		ROADS NETWO	ORK						
Sr.	2023 (Jan to	Description	Unit	Quantity	Unit Rate	Amount			
No	Jun) Jhang	Description	emt	Quantity	( <b>Rs.</b> )	( <b>Rs.</b> )			
		Tuff Paver							
9	10/41	Providing and laying Tuff pavers, having 7000							
		PSI, crushing strength of approved manufacturer, over $2^{"}$ to $3^{"}$ sand cushion i/c grouting with sand							
		in joints i/c finishing to require slope, complete in							
		all respect. (50% Grey / 50% Coloured)							
		c) 80-mm thick	Sft	5,250.00	197.40	1,036,350			
10	18/5	<b>Road Edging</b> Providing and laying road edging of 3" (75 mm)							
10	10/5	wide and 9" (225 mm) deep brick on end.							
		complete in all respects.	Rft	900.00	54.75	49,275			
		P.C.C (Between Asphalt and Tuff Paver)							
11	6/5	Cement concrete plain including placing,							
		(including screening and washing of stone							
		aggregate):							
		(f) Ratio 1: 2: 4	100Cft	1.49	38,178.90	56,887			
12	1/1 Data	Carriage of 100 Cft. (2.83 cu.m) of all materials							
	Analysis	(unslaked) surkhi etc. or 150 Cft (4.25 cu m) of							
	1 11141 9 010	timber, by truck or by any other means owned by							
		the contractor. (crushed stone aggregate and bajri							
		used in concrete items) (Lead 105 Km)							
			Cft	131.12	73.44	9,630			
		Cat Eyes							
13	18/28	Providing & fixing Cat Eves of size 4"x4"x3/4"							
10	10,20	duly casted with specified material having plastic							
		strip containing mini retro-reflective glass beads							
		of color white /red/ yellow having specifid							
		reflections, quality & shape 1/c the cost of self							
		dnail, fixing to road with epoxy/ hammering with							
		separate nail complete.							
		b) Aluminium Alloy							
		(1) Dual-Directional							
		(i) 31x2=42 Glass beads a side	Each	76.00	747.70	56,825			
		(2) Uni-Directional	East	76.00	505 70	11 512			
	l .	(II) 45 Glass beaus a side	Each	/0.00	383.70	44,313			

Г

#### PUNJAB CITIES PROGRAM (PCP) DETAILED DESIGN OF INFRASTRUCTURE SUB-PROJECTS AND RESIDENTS SUPERVISION IN 16 CITIES OF PUNJAB

#### DETAILED COST ESTIMATE

## BUND CHOWK

	I	ROADS NETW	ORK			
Sr. No	1st BI-Annual- 2023 (Jan to Jun) Jhang	Description	Unit	Quantity	Unit Rate (Rs.)	Amount (Rs.)
14	18/25/a	Providing, fabrication and fixing pole mounted Direction Board/ road delineator of any shape and size, with specified Sheet and thickness, supported with G.I Channel, (excluding the cost of vertical post and painting) etc complete in all respect.				
		(a) G.I Sheet 14 SWG				
		CIRCULAR/TRIANGULAR	D.C.C	00.00	040.15	05.224
		3 ft size	P. Sft	90.00	948.15	85,334
15	18/27/b	Providing, fabrication and fixing Vertical Post comprising of medium quality G.I Pipe of specified diameter, including the cost of clamping arrangements, top cover,hold fasts embeded in PCC 1:2:4 etc, complete in all respect				
		(b) 3 inch diameter	Rft	165.00	1,259.90	207,884
						,
16	13/42/a	Lettering and printing of signage /direction boards/ road delineators of any colour by machine i/c cost of Digital Lettering, Lamination & pasting etc complete in all respect.				
		a) High Intensity Prismatic (HIP) Tape	P. Sft	90.00	1,111.65	100,049
		Total Amount Rs.				5,793,685
		DRAINAGE SYSTEM				
		Dismantling				
1	4/19/c	c) Dismantling cement concrete 1:2:4 plain.	100Cft	0.45	12,196.80	5,533

	PUNJAB CITIES PROGRAM (PCP) DETAILED DESIGN OF INFRASTRUCTURE SUR-PROJECTS AND DESIDENTS									
	DETAILED DESIGN OF INFRASTRUCTURE SUB-PROJECTS AND RESIDENTS SUPERVISION IN 16 CITIES OF PUNJAB									
	DETAILED COST ESTIMATE BUND CHOWK									
		ROADS NETWO	ORK							
Sr. No	1st BI-Annual- 2023 (Jan to Jun) Jhang	Description	Unit	Quantity	Unit Rate (Rs.)	Amount (Rs.)				
		Excavation								
2	3/7/i	Earthwork excavation in open cutting upto 5'-0" (1.5 m) depth for storm water channels, drains, sullage drains in open areas, roads, streets, lanes, including under pinning of walls and shoring to protect existing works, shuttering and timbering the trenches, dressed to designed level and dimensions, trimming, removal of surface water fromtrenches, back filling and surplus excavated material disposed of and dressed within 50 ft. (15 m) lead:- i) in ordinary soil.	100005	3 15	0.852.50	31.025				
			1000CII	5.15	9,032.30	51,055				
		P.C.C								
3	6/5	Cement concrete plain including placing, compacting, finishing and curing complete (including screening and washing of stone aggregate):								
		(f) Ratio 1: 2: 4	100Cft	11.79	38,723.50	456,550				
4	7/7/i	Brick Work Pacca brick work other than building upto 10ft. (3 m) Cement, sand mortar:- Ratio 1:3	100Cft	0.68	33,467.90	22,773				
5	7/10	Extra for pacca brick work in steining of wells or any other circular masonry.	100Cft	0.68	2,881.20	1,960				
6	11/8/h	<b>Plaster</b> Cement plaster 1:3 upto 20' (6.00 m) height:-								
	11/0/0	b) ½" (13 mm) thick	100Sft	1.81	3,639.10	6,603				
		Gully Grating Chamber								
7	21/8	Constructing standard gully grating chamber, 3'x2½' (900x750 mm), with chinaware trap as per PHED Drawing STD/PD No. 3 of 1977, complete in all respects.	Each	14.00	17,047.65	238,667				
8	7/30	Supplying and filling sand under floor; or plugging in wells.	100Cft	12.60	2,982.00	37,573				

	PUNJAB CITIES PROGRAM (PCP) DETAILED DESIGN OF INFRASTRUCTURE SUB-PROJECTS AND RESIDENTS									
	SUPERVISION IN 16 CITIES OF PUNJAB									
	DETAILED COST ESTIMATE									
	BOND CHOWK ROADS NETWORK									
Sr. No	Ist BI-Annual- 2023 (Jan to Jun) Jhang	Description	Unit	Quantity	Unit Rate (Rs.)	Amount (Rs.)				
		uPVC Pipe								
9	19/47	Providing, fixing, testing and commissioning of $\mu$ -PVC (Unplasticized polyvinyl Chloride) Nikasi /waste pipe make of dadex / Popular / Beta/ BBJ plain / socket ended conforming to code EN-1401 of specified SDR (Standard Dimension Ratio) including the cost of specials and Solvents complete in all respect as approved and directed by the Engineer Incharge.								
		Type (SDR 41/SN-4)								
		(vii) 8"(200 mm)	Rft	504.00	455.00	229,320				
10	1/1	Carriage of 100 Cft. (2.83 cu.m) of all materials like stone aggregate, spawl, kankar lime (unslaked), surkhi, etc. or 150 Cft. (4.25 cu.m) of timber, by truck or by any other means owned by the contractor. (crushed stone aggregate and bajri used in concrete items) (Lead 105 Km)								
			Cft	1,037.52	73.44	76,196				
11	N.S	<b>RPC Manhole Cover</b> Providing and fixing RPC Manhole Cover Manufactured with 100% Reinforced Plastic Composite Material, 650 mm dia with clear opening size 600 mm (24" dia) and RPC manhole frame having dia meter 790 mm (Complete) (Certified under ISO 9001-2015)								
			Each	14.00	12,204.00	170,856				
		Manhala Cavar								
12	MR	Old/existing Manhole cover and Frame complete set shift to MC store.	Set	14.00	650.00	9,100				
		Total Amount (Rs)				1,286,168				
		Grand Total Amount Rs.				7,079,852				

	PUNJAB CITIES PROGRAM (PCP) DETAILED DESIGN OF INFRASTRUCTURE SUB-PROJECTS AND RESIDENTS									
	SUPERVISION IN 16 CITIES OF PUNJAB									
	BUND	CHOWE	K							
	CALCULATION OF QUANTITES									
	KUADS NET WORK									
Sr.		N	та	<b>XX</b> 7* 141		04	<b>T</b> T •4			
No	Description	NO.	Length	wiath	Height	Qty.	Unit.			
	Excavation									
1	Earthwork excavation in open cutting upto 5'-0" (1.5 m) depth for storm water channels, drains, sullage drains in open areas, roads, streets, lanes, including under pinning of walls and shoring to protect existing works, shuttering and timbering the trenches, dressed to designed level and dimensions, trimming, removal of surface water from trenches, back filling and surplus excavated material disposed of and dressed									
	within 50 ft. (15 m) lead:-									
	For Shoulder									
	RD 0+000 TO 0+150 (Towards Allah ho Hotel)	2	150	5.00	1.00	1,500	Cft			
	RD 0+000 TO 0+150 (Towards Cricket Ground)	2	150	10.00	1.00	3,000	Cft			
	RD 0+000 TO 0+150 (Towards College Chowk)	2	150	5.00	1.00	1,500	Cft			
	RD 0+000 TO 0+150 (Towards Jhang Road)	2	150	5.00	1.00	1,500	Cft			
					Total	7,500	Cft			
					Total	7.50	%Cft			
					Totali	7.00	/0010			
	Compaction of Earthwork									
2	Compaction of earthwork with power road roller, including ploughing, mixing, moistening earth to optimum moisture content in layers, etc. complete. i) 95% to 100% maximum modified AASHO dry density.									
	For Shoulder									
	RD 0+000 TO 0+150 (Towards Allah ho Hotel)	2	150	5.00	0.50	750	Cft			
	RD 0+000 TO 0+150 (Towards Cricket Ground)	2	150	10.00	0.50	1,500	Cft			
	RD 0+000 TO 0+150 (Towards College Chowk)	2	150	5.00	0.50	750	Cft			
	RD 0+000 TO 0+150 (Towards Jhang Road)	2	150	5.00	0.50	750	Cft			
					Total	3,750	Cft			
					Total.	3.75	%oCft			
	PUNJAB CITIES PROGRAM (PCP)									
-----------	---	--------	----------------------	---------	---------	-------	-------	--	--	
	DETAILED DESIGN OF INFRASTRUCT	TURE S	UB-PROJE	ECTS AN	D RESID	ENTS				
	SUPERVISION IN 10		S OF PUN	JAB						
		OF OF	<u>n</u> IANTITES							
	ROADS N	ET WO	RK							
Sr. No	Description	No.	Length	Width	Height	Qty.	Unit.			
	Sub Base Course									
3	Providing and laying sub-base course of stone product of approved quality and grade including, placing, mixing, spreading and compaction of sub base material to required depth, camber and grade to achieve 98% maximum dry density determined according to AASHTO T-180 method-D, including carriage of all material to site of work complete in all respect as per specifications and as directed by the engineer incharge. (Crushed stone aggregate from Sargodha querry to site, actual compacted depth shall be considered for payment)									
	For Shoulder									
	RD 0+000 TO 0+150 (Towards Allah ho Hotel)	2	150	5.00	0.50	750	Cft			
	RD 0+000 TO 0+150 (Towards Cricket Ground)	2	150	10.00	0.50	1,500	Cft			
	RD 0+000 TO 0+150 (Towards College Chowk)	2	150	5.00	0.50	750	Cft			
	RD 0+000 TO 0+150 (Towards Jhang Road)	2	150	5.00	0.50	750	Cft			
					Total	3,750	Cft			
					Total.	37.50	%Cft			
	Water Bound Macadam									
4	Providing and laying base course of crushed stone (Water Bound Macadam) of approved quality and grade including, placing, mixing, spreading and compaction of base course material to required depth, camber and grade to achieve 100% maximum modified AASHTO dry density, including carriage of all material to site of work complete in all respect as per specifications and as directed by the engineer incharge. (Crushed stone aggregate from Sargodha querry to site, actual compacted depth shall be considered for payment)									
	Crushed stone aggregate from approved quarry									
	For Shoulder									
	RD 0+000 TO 0+150 (Towards Allah ho Hotel)	2	150	5.00	0.33	495	Cft			
	RD 0+000 TO 0+150 (Towards Cricket Ground)	2	150	10.00	0.33	990	Cft			
	RD 0+000 TO 0+150 (Towards College Chowk)	2	150	5.00	0.33	495	Cft			
	RD 0+000 TO 0+150 (Towards Jhang Road)	2	150	5.00	0.33	495	Cft			
					Total	2,475	Cft			

	PUNJAB CITIES PROGRAM (PCP) DETAILED DESIGN OF INFRASTRUCTURE SUB-PROJECTS AND RESIDENTS									
	SUPERVISION IN 16	<u>6 CITIE</u>	S OF PUN	JAB						
	BUND	CHOW	K							
	CALCULATION ROADS N	OF QU	ANTITES							
	KOADS N									
Sr. No	Description	No.	Length	Width	Height	Qty.	Unit.			
					Total.	24.75	%Cft			
	Prime Coat									
5	Providing and laying bituminous priming coat, using									
	10 lbs. kerosene oil and 10 lbs. binder per 100 Sft. or									
	0.5 Kg kerosene and 0.5 Kg binder per square metre.									
	RD 0+000 TO 0+150 (Towards Allah ho Hotel)	1	150	36.00		5.400	Sft			
	RD 0+000 TO 0+150 (Towards Cricket Ground)	1	150	24.00		3,600	Sft			
	RD 0+000 TO 0+150 (Towards College Chowk)	1	150	30.00		4,500	Sft			
	RD 0+000 TO 0+150 (Towards Jhang Road)	1	150	24.00		3,600	Sft			
					Total	17,100	Sft			
					Total.	171.00	%Sft			
	Carneting									
	AWC									
6	Providing and laying plant premixed bituminous									
	carpet, including compaction and finishing to required									
	camber, grade and density. (2 inch thick) (iv) 4.5%									
	Bitumen									
	RD 0+000 TO 0+150 (Towards Allah ho Hotel)	1	150	36.00		5,400	Sft			
	RD 0+000 TO 0+150 (Towards Cricket Ground)	1	150	24.00		3,600	Sft			
	RD 0+000 TO 0+150 (Towards College Chowk)	1	150	30.00		4,500	Sft			
	RD 0+000 TO 0+150 (Towards Jhang Road)	1	150	24.00		3,600	Sft			
					Total	13 500	Sft			
					Total	13,300	511			
					Total.	135.00	%Sft			
	Paint For Traffic Lanes									
7	Painting Traffic Lane Marking of specified width									
	(1.5mm thick), with Thermoplastic (1P) Paint including Glass Beads complete in all respect as									
	approved and directed by Engineer incharge.									
	RD 0+000 TO 0+150 (Towards Allah ho Hotel)	25	150			375	Rft			
	RD 0+000 TO 0+150 (Towards Anal no fiole)	2.5	150			375	Rft			
	RD 0+000 TO 0+150 (Towards College Chowk)	2.5	150			375	Rft			
	RD 0+000 TO 0+150 (Towards Jhang Road)	2.5	150			375	Rft			
					Total.	1,500	Rft			

	PUNJAB CITIES	PROG	RAM (PCP		D DEGIDE	NITC	
	DETAILED DESIGN OF INFRASTRUCT SUPERVISION IN 16	IUKE S 5 CITIF	UB-PROJE	LUTS AN IAR	D RESIDE	INTS	
	BUND	CHOW	K	JAD			
	CALCULATION	OF QU	JANTITES				
	ROADS N	ET WO	RK		1		
Sr.	Description	No.	Length	Width	Height	Otv.	Unit.
NO	Providing and fining propert Edge View Store (4" to		8		8		<u> </u>
δ	6" thick), of 3500 PSI Compressive Strength, embedded in PCC 1:2:4 over lean concrete 1:4:8 etc. complete in all respect.						
	b) With Painting						
	(i) 14" high						
		2	500			1,000	Rft
						1 000	<b>D</b> 4
					Total.	1,000	Rft
	Tuff Paver						
9	Providing and laying Tuff pavers, having 7000 PSI, crushing strength of approved manufacturer, over 2" to 3" sand cushion i/c grouting with sand in joints i/c finishing to require slope. complete in all respect. (50% Grev / 50% Coloured)						
	c) 80-mm thick						
	For Shoulder						
	RD 0+000 TO 0+150 (Towards Allah ho Hotel)	1	150	5.00		750	Sft
	RD 0+000 TO 0+150 (Towards Cricket Ground)	2	150	10.00		3.000	Sft
	RD 0+000 TO 0+150 (Towards College Chowk)	2	150	5.00		1,500	Sft
						5.050	CR
					Total.	5,250	Sft
-	Road Edging						
10	Providing and laying road edging of 3" (75 mm) wide and 9" (225 mm) deep brick on end, complete in all respects.						
	RD 0+000 TO 0+150 (Towards Allah ho Hotel)	2	150			300	Rft
	RD 0+000 TO 0+150 (Towards Cricket Ground)	2	150			300	Rft
	RD 0+000 TO 0+150 (Towards College Chowk)	2	150			300	Rft
					Total.	900	Rft
	D.C.C. (Botwoon Asphalt and Tuff Dover)						
11	Cement concrete plain including placing compacting						
11	finishing and curing complete (including screening and washing of stone aggregate):						
	(f) Ratio 1: 2: 4						
	RD 0+000 TO 0+150 (Towards Allah ho Hotel)	2	150	0.33	0.50	50	Cft
	RD 0+000 TO 0+150 (Towards Cricket Ground)	2	150	0.33	0.50	50	Cft

	PUNJAB CITIES DETAILED DESIGN OF INFRASTRUCT	PROGE	RAM (PCP) UB-PROJE	) ECTS AN	D RESIDI	ENTS	
	SUPERVISION IN 16	CITIE	S OF PUN. K	JAB			
	CALCULATION	OF QU	ANTITES				
	ROADS N	ET WO	RK				
Sr. No	Description	No.	Length	Width	Height	Qty.	Unit.
	RD 0+000 TO 0+150 (Towards College Chowk)	2	150	0.33	0.50	50	Cft
					Total	149	Cft
					Total.	1.49	%Cft
	Cat Eves						
12	Providing & fixing Cat Eyes of size 4"x4"x3/4" duly casted with specified material having plastic strip containing mini retro-reflective glass beads of color white /red/ yellow having specifid reflections, quality & shape i/c the cost of self built in 12m						
	b) Aluminium Alloy						
	(1) Dual-Directional						
	(ii) 43x2=86 Glass beads a side	76				76	Each
	<ul><li>(2) Uni-Directional</li><li>(ii) 43 Glass beads a side</li></ul>	76				76	Each
13	Providing, fabrication and fixing pole mounted Direction Board/ road delineator of any shape and size, with specified Sheet and thickness, supported with G.I Channel, (excluding the cost of vertical post and painting) etc complete in all respect.						
	(a) G.I Sheet 14 SWG						
	CIRCULAR/TRIANGULAR						
	3 ft size	15	3.00	2.00		90	Sft
14	Providing, fabrication and fixing Vertical Post comprising of medium quality G.I Pipe of specified diameter, including the cost of clamping arrangements, top cover,hold fasts embeded in PCC 1:2:4 etc, complete in all respect						
	(b) 3 inch diameter	15	11			165	Rft
15	Lettering and printing of signage /direction boards/ road delineators of any colour by machine i/c cost of Digital Lettering, Lamination & pasting etc complete in all respect.						
	a) High Intensity Prismatic (HIP) Tape					90	Sft
					Total.	90	Sft
				<u> </u>			

	PUNJAB CITIES DETAILED DESICN OF INFRASTRUCT	PROGI	RAM (PCP)	) FCTS AN	n desine	NTS					
	SUPERVISION IN 16 CITIES OF PUNJAB										
	BUND (	CHOW	K								
	CALCULATION	OF QU	<b>JANTITES</b>								
	ROADS N	ET WO	RK								
Sr. No	Description	No.	Length	Width	Height	Qty.	Unit.				
	DRAINAGE SYSTEM										
	Dismantling										
1	c) Dismantling cement concrete 1:2:4 plain.										
	Manhole Neck	14	8.64	0.75	0.50	45.36	Cft				
					Total	0.45	%Cft				
	Excavation										
2	Earthwork excavation in open cutting upto 5'-0" (1.5										
	m) depth for storm water channels, drains, sullage						I				
	under pipping of walls and shoring to protect existing						I				
	works shuttering and timbering the trenches dressed						I				
	to designed level and dimensions, trimming, removal						I				
	of surface water fromtrenches, back filling and surplus						I				
	excavated material disposed of and dressed within 50						I				
	ft. (15 m) lead:-						I				
	i) in ordinary soil.										
	Pipe Laying	14	36.00	2.50	2.50	3,150	Cft				
					Total	3,150	Cft				
					Total	3.15	%oCft				
							,				
3	Cement concrete plain including placing, compacting, finishing and curing complete (including screening										
	and washing of stone aggregate):						1				
							l				
	(f) Ratio 1: 2: 4										
	Pipe Laying	14	36.00	1.50	1.50	1,134	Cft				
	For manhole neck	14	8.64	0.75	0.50	45	Cft				
					Total	1,179	Cft				
ļ					Total	11.79	%Cft				
4											
4	Pacca brick work other than building upto 10ft. (3 m) Cement, sand mortar:- Ratio 1:3										
	For manhole neck	14	8.64	0.75	0.75	68	Cft				
					Total	68	Cft				
					Total	0.68	%Cft				
5	Extra for pacca brick work in steining of wells or any										
	other circular masonry.				Total	0.68	%Cft				

	PUNJAB CITIES PROGRAM (PCP) DETAILED DESIGN OF INFRASTRUCTURE SUB-PROJECTS AND RESIDENTS SUPERVISION IN 16 CITIES OF PUNJAB									
	BUND	CHOW	K							
	CALCULATION DOADS N	OF QU	ANTITES							
	KOADS N									
Sr. No	Description	No.	Length	Width	Height	Qty.	Unit.			
6	Cement plaster 1:3 upto 20' (6.00 m) height:-									
	b) $\frac{1}{2}$ " (13 mm) thick									
	For manhole neck $(100 \times 2 = 200)$	28	8.64		0.75	181	Sft			
					Total	181	Sft			
					Total	1.81	%Sft			
7	Gully Grating Chamber									
/	Constructing standard guily grating chamber, $5 \times 2/2$ (900x750 mm) with chinaware trap as per PHED									
	Drawing STD/PD No. 3 of 1977, complete in all									
	respects.	14				14.00	Each			
	1					1100	Luch			
8	Supplying and filling sand under floor; or plugging in									
	wells.	14	36.00	2.50	1.00	12.60	%Cft			
	uPVC Pipe									
9	Providing, fixing, testing and commissioning of $\mu$ -									
	PVC (Unplasticized polyvinyl Chloride) Nikasi /waste									
	pipe make of dadex / Popular / Beta/ BBJ plain /									
	socket ended conforming to code EN-1401 of									
	specified SDR (Standard Dimension Ratio) including									
	respect as approved and directed by the Engineer									
	Incharge									
	Type (SDR 41/SN-4)									
	(vii) 8"(200 mm)	14	36.00			504	Rft			
	RPC Manhole Cover									
10	Providing and fixing RPC Manhole Cover									
	Manufactured with 100% Reinforced Plastic									
	Composite Material, 650 mm dia with clear opening									
	size 600 mm (24" dia) and RPC manhole frame having									
	dia meter 790 mm (Complete)									
	(Certified under ISO 9001-2015)	14				14	Each			

		PUNJAB CITIES PROG	RAM (PC	CP)	DECIDENTE	
	L	DETAILED DESIGN OF INFRASTRUCTURE S SUPERVISION IN 16 CITII	SUB-PRO ES OF PU	JECTS AND NJAB	O RESIDENTS	
		DETAILED COST ES	TIMATE	1		
		KHATM E NABOOWA	T CHOW	ΥK		
		ROADS NETWO	ORK			
Sr.	1st BI-Annual- 2023 (Jan to			0	Unit Rate	Amount
No	Jun) Jhang	Description	Unit	Quantity	( <b>Rs.</b> )	( <b>Rs.</b> )
	<u>-</u>	Excavation				
1	3/7	Earthwork excavation in open cutting upto 5'-0" (1.5 m) depth for storm water channels, drains, sullage drains in open areas, roads, streets, lanes, including under pinning of walls and shoring to protect existing works, shuttering and timbering the trenches, dressed to designed level and dimensions, trimming, removal of surface water from trenches, back filling and surplus excavated material disposed of and dressed within 50 ft. (15 m) lead:-				
		i) ordinary	1000Cft	0.29	9 852 50	2 857
		i) ordinary	10000011	0.27	,,052.50	2,007
		Compaction of Earthwork				
2	3/25	Compaction of earthwork with power road roller, including ploughing, mixing, moistening earth to optimum moisture content in layers, etc. complete. i) 95% to 100% maximum modified AASHO dry density.	1000Cft	0.29	1,509.00	438
					-	
		Sub Base Course				
3	18/3/a/ (i) + 1/1	Providing and laying sub-base course of stone product of approved quality and grade including, placing, mixing, spreading and compaction of sub base material to required depth, camber and grade to achieve 98% maximum dry density determined according to AASHTO T-180 method-D, including carriage of all material to site of work complete in all respect as per specifications and as directed by the engineer incharge. (Crushed stone aggregate from Sargodha querry to site, actual compacted depth shall be considered for payment)				
			100Cft	2.88	16,138.95	46,480
	<i>CIE</i> 27	Kerb Stone				
4	6/32/b	Providing and fixing precast Edge Kerb Stone (4" to 6" thick), of 3500 PSI Compressive Strength, embeded in PCC 1:2:4 over lean concrete 1:4:8 etc. complete in all respect.				
		o) with Painting				

	I	PUNJAB CITIES PROG DETAILED DESIGN OF INFRASTRUCTURE S	RAM (PO SUB-PRO	CP) DJECTS ANI	) RESIDENTS	
		SUPERVISION IN 16 CITII	ES OF PU	JNJAB		
		DETAILED COST ES KHATM E NABOOWA	TIMATE T CHON	VK		
		ROADS NETWO	ORK			
Sr.	1st BI-Annual- 2023 (Jan to Jun)	Description	Unit	Quantity	Unit Rate	Amount (Ps)
110	Jhang			115.00	(KS.)	(1.5.)
		(i) 14" high	P.Rft	115.00	535.05	61,531
5	10/41	<b>Tuff Paver</b> Providing and laying Tuff pavers, having 7000 PSI, crushing strength of approved manufacturer, over 2" to 3" sand cushion i/c grouting with sand in joints i/c finishing to require slope. complete in all respect. (50% Grey / 50% Coloured)				
		c) 80-mm thick	Sft	575.00	197.40	113,505
6	N.S	Gray Structure of work Excavation deep 2 ft circle 16x16 1)First circle 16x16 2.5ft deep from road level height 3ft up from road level with complete wall tile work. 2)Rori work + PCC +RCC rafting for centrel column 1.5 ft x1.5 ft heighy 5ft Brick work in super structure Brick work in super structure in all respect DPC Electrical work GM cable Black horse weather sjield paint. Light Detail 12 led small light 30 watts	Each	1.00	1,246,080.00	1,246,080
		Total Amount Rs. "A"				1.470.891
						,,
7	N.S	Four Qul with Allah Structure <b>Material Detail:</b> 4 Ply fiber cladding , steelstructure 1/2 angle , 1 inch pipe Rooftop ALLAH Sculpture Enamel Paint Finish Transportation , Installation	Each	1.00	2,478,000	2,478,000
		Total Amount Rs. "B"				2,478,000
						_,170,000
		Total Amount Rs. "A+B"				3,948,891

	PUNJAB CITIES PROGRAM (PCP)								
	DETAILED DESIGN OF INFRASTRUCT SUPERVISION IN 16	URE S CITH	SUB-PROJ ES OF PUN	ECTS AN MAB	ND RESII	DENTS			
	KHATM E NABO	OWA	T CHOWN	X					
	CALCULATION	OF Q	UANTITES	8					
	ROADS	WOR	K						
Sr. No	Description	No.	Length	Width	Height	Qty.	Unit.		
	Excavation								
1	Earthwork excavation in open cutting upto 5'-0" (1.5 m) depth for storm water channels, drains, sullage drains in open areas, roads, streets, lanes, including under pinning of walls and shoring to protect existing works, shuttering and timbering the trenches, dressed to designed level and dimensions, trimming, removal of surface water from trenches, back filling and surplus excavated material disposed of and dressed within 50 ft. (15 m) lead:-								
	Footpath	1	115	5.00	0.50	288	Cft		
					Total	288	Cft		
					<b>T</b> ( )	0.00	0 ( <b>C</b> 0)		
					Total.	0.29	%Cft		
	Compaction of Earthwork								
2	Compaction of earthwork with power road roller, including ploughing, mixing, moistening earth to optimum moisture content in layers, etc. complete. i) 95% to 100% maximum modified AASHO dry density.								
	Footpath	1	115	5.00	0.50	288	Cft		
					Total	288	Cft		
					<b>T</b> ( )	0.00			
					Total.	0.29	%oCft		
	Sub Base Course								
3	Providing and laying sub-base course of stone product of approved quality and grade including, placing, mixing, spreading and compaction of sub base material to required depth, camber and grade to achieve 98% maximum dry density determined according to AASHTO T-180 method-D, including carriage of all material to site of work complete in all respect as per specifications and as directed by the engineer incharge. (Crushed stone aggregate from Sargodha querry to site, actual compacted depth shall be considered for payment)								
	Footpath	1	115	5.00	0.50	288	Cft		
					Total	288	Cft		
					Total.	2.88	%Cft		

	PUNJAB CITIES PROGRAM (PCP)									
	DETAILED DESIGN OF INFRASTRUCTURE SUB-PROJECTS AND RESIDENTS									
	SUPERVISION IN 16 CITIES OF PUNJAB									
	KHATM E NABOOWAT CHOWK									
	CALCULATION OF QUANTITES									
	ROADS	WOR	K		[]	Γ	[			
Sr										
No	Description	No.	Length	Width	Height	Qty.	Unit.			
4	Providing and fixing precast Edge Kerb Stone (4" to									
	6" thick), of 3500 PSI Compressive Strength, embedded									
	in PCC 1:2:4 over lean concrete 1:4:8 etc. complete in									
	all respect.									
	b) With Painting									
	(i) 14" high									
		1	115			115	Rft			
					Total.	115	Rft			
	Tuff Paver									
5	Providing and laying Tuff pavers, having 7000 PSI,									
	crushing strength of approved manufacturer, over 2"									
	to 3" sand cushion i/c grouting with sand in joints i/c									
	finishing to require slope. complete in all respect.									
	(50% Grey / 50% Coloured)									
	c) 80-mm thick									
		1	115	5.00		575	Sft			
					T-4-1		CIP4			
					l'otal.	575	SIL			

#### DETAILED COST ESTIMATE

#### ADAYWAL CHOWK

	ROADS NETWORK										
Sr. No	1st BI-Annual- 2023 (Jan to Jun) Jhang	Description	Unit	Quantity	Unit Rate (Rs.)	Amount (Rs.)					
1	4/13	Dismantling brick work in lime or cement mortar.	100Cft	9.90	4,712.40	46,653					
2	3/21	<b>Excavation</b> Excavation in foundation of building, bridges and other structures, including dagbelling, dressing, refilling in layers around structure with excavated earth, watering and ramming lead upto one chain (30 m)lift upto 5 ft (1.5m).									
		1) By Manual ii) in ordinary soil.	1000Cft	1.98	11,658.25	23,083					
3	7/4	Pacca brick work in foundation and plinth in:- i) Cement, sand mortar:- Ratio 1:6	100Cft	7.73	29,928.60	231,348					
4	7/5	Pacca brick work in ground floor:- i) cement, sand mortar:- Ratio 1:6	100Cft	18.56	32,331.00	600,063					
5	3/7	PlasterCement plaster 1:3 upto 20' (6.00 m) height:-c) ¾" (20 mm) thick	100Sft	16.50	4,856.75	80,136					
6	13/33	Weather Shield PaintProviding and applying weather shield paint of approved quality on external surface of building including preparation of surface, application of primer complete in all respect:a) new surface:i) 1st coatii) 2nd coat	100Sft 100Sft	16.50 16.50	3,651.00 2,101.80	60,242 34,680					
		Deduction Deduction of used bricks from original quantity.	1000 No.	13.37	(4,200.00)	(56,133)					
		Total Amount Rs. "A"				1,020,072					

		PUNJAB CITIES PROG	RAM (PO	C <b>P</b> )		
	D	DETAILED DESIGN OF INFRASTRUCTURE S	SUB-PRC	)JECTS AND	RESIDENTS	
		SUPERVISION IN 16 CITIL	ES OF PU	JNJAB		
		DETAILED COST ES		<u> </u>		
		ADAY WAL CHU				
		ROADS NETWO	JKK			
Sr	1st BI-Annual-				Unit Data	Amount
No	2023 (Jan to Jun)	Description	Unit	Quantity	(Rs.)	(Rs.)
110	Jhang				(100)	(1037)
7	N.S	Classic Ornament				
		M Ali Jinnah wall panel				
		Allama Iqbal wall panel				
		Center Relief work				
		Material Detail:				
		4 Ply fiber cladding, steelstructure 1/2 angle, 1				
		inch pipe				
		Enamel Paint Finish				
		Transportation, Installation				
			Sft	160.00	11,328.00	1,812,480
8	N.S	Led Strip Rope light One Color Waterproof - Eu				
		Plug 108	Rft	114.00	140.00	15,960
9	N.S	Illuminated wall as per design drawings	Sft	828.00	708.00	586,224
10	N.S	Classic Wall planter	Each	23.00	56,640.00	1,302,720
					,	
11	NS	Corinthian can and niller per design drawings				
	14.5	Comunan cap and piner per design drawings	Sft	810.00	4,248.00	3,440,880
		Total Amount Rs. "B"				7,158,264
		Total Amount Rs. "A+B"				8,178,336

	PUNJAB CITIES P DETAILED DESIGN OF INFRASTRUCTU	ROGI JRE S	RAM (PCF SUB-PROJ	?) ECTS AN	D RESID	ENTS	
	SUPERVISION IN 16 (	<u></u>	ES OF PUN	JAB			
	ADAYWAL	CHO	WK	_			
	CALCULATION C	<u>FQU</u>	JANTITES V	5			
	KUADS V	VOR	ĸ				1
Sr. No	Description	No.	Length	Width	Height	Qty.	Unit.
1	Dismantling brick work in lime or cement mortar.						
		1	165.00	0.75	8.00	990.00	Cft
					Total	0.00	%Cft
	Excavation				10141	3.30	70011
2	Excavation in foundation of building, bridges and other structures, including dagbelling, dressing, refilling in layers around structure with excavated earth, watering and ramming lead upto one chain (30 m)lift upto 5 ft (1.5m).						
	1) By Manual						
	ii) in ordinary soil.	1	165.00	3.00	4.00	1,980.00	Cft
					Total	1.98	%oCft
3	Pacca brick work in foundation and plinth in:-						
	i) Cement, sand mortar:- Ratio 1:6						
	Step-1	1	165.00	2.63	0.50	216.56	Cft
	Step-2	1	165.00	2.25	0.50	185.63	Cft
	Step-3	1	165.00	1.88	0.50	154.69	Cft
	Step-4	1	165.00	1.50	0.50	123.75	Cft
	Step-5	1	165.00	1.13	0.50	92.81	Cft
					Total	7.73	%Cft
4	Pacca brick work in ground floor:-						
	i) cement, sand mortar:- Ratio 1:6	1	165.00	1.13	10.00	1,856.25	Cft
					Total	18.56	%Cft
	Plaster						
5	Cement plaster 1:3 upto 20' (6.00 m) height:-						
	c) ¾" (20 mm) thick	1	165.00		10.00	1,650.00	Sft
					Total	16.50	%Sft

Г

-

	PUNJAB CITIES P	ROG	RAM (PCF	<b>)</b>			
	DETAILED DESIGN OF INFRASTRUCTU	RE S	SUB-PROJ	ECTS AN	D RESIDI	ENTS	
	SUPERVISION IN 16 C		US OF PUN	JAB			
	ADAYWAL CALCULATION C		VVK TANTITES	1			
	ROADS	VOR	K	,			
Sr. No	Description	No.	Length	Width	Height	Qty.	Unit.
	Weather Shield Paint						
6	Providing and applying weather shield paint of approved quality on external surface of building including preparation of surface, application of primer complete in all respect:						
		1	165.00		10.00	1,650.00	Sft
					Total	16.50	%Sft
,	M Ali Jinnah wall panel Allama Iqbal wall panel Center Relief work Material Detail: 4 Ply fiber cladding , steelstructure 1/2 angle , 1 inch pipe Enamel Paint Finish Transportation , Installation						
		2	8.00		10.00	160.00	Sft
					Total	160.00	Sft
8	Led Strip Rope light One Color Waterproof - Eu Plug 108	2	165.00			330.00	Rft
9	Illuminated wall as per design drawings	23	6.00		6.00	828.00	Sft
	1 0 0 0	-			Total	828.00	Sft
10	Classic Wall planter	23				23.00	No.s
11		1	(0.00		10.50	010.00	
11	Corintnian cap and piller per design drawings	1	60.00		13.50	810.00	Stt
						810.00	Sft

## ENVIRONMENTAL MITIGATION & MANAGEMENT COST

#### DETAILED COST ESTIMATE

ENVIRONMENTAL	MITIGATION	& MANAGEMENT	COST
---------------	------------	--------------	------

Sr No	Description	Unit	Quantity	Unit Rate (Rs.)	Amount Rs.
	A-PPEs				
1	Face Masks (3 PLY) - box	Nos	25.00	300.00	7,500
2	Safety Hard Helmets	Nos	10.00	3,000.00	30,000
3	Safety Shoes	Nos	10.00	3,000.00	30,000
4	Hand Gloves	Nos	10.00	1,000.00	10,000
5	Ear Plugs	Nos	10.00	500.00	5,000
6	Reflective Safety Vest	Nos	10.00	1,000.00	10,000
7	Safety Goggles	Nos	10.00	500.00	5,000
				Sub Total	97,500
	B-Community Health and Safety				
1	First Aid Box Complete	Nos	1.00	10,000.00	10,000
2	Safety Signs	Nos	3.00	15,000.00	45,000
3	Safety Cones	Nos	20.00	1,000.00	20,000
4	Safety Tapes	Nos	50.00	1,500.00	75,000
5	Portable Delineator with chain	Nos	3.00	2,200.00	6,600
6	Emergency Portable Lights	Nos	3.00	3,000.00	9,000
7	Solid Waste Collection Drums with Cover	Nos	3.00	12,000.00	36,000
8	Fire Fighting Equipment Purchase and refilling	Nos	1.00	10,000.00	10,000
9	BCC Campaign and waste collection system	Lump sun	n		100,000
10	Water Sprinkling	ump sun	n		100,000
				Sub Total	411,600
	Total Amount (Rs)				509,100

## RATE ANALYSIS

		Rate Analysis 1	Road				
Desci	iption						
Provie comp accor specifi depth <b>Crus</b>	ding and laying action of sub ding to AASH fications and as shall be consident a Stone	g sub-base course of stone product of approved que base material to required depth, camber and g ITO T-180 method-D, including carriage of all s directed by the engineer incharge. (Crushed stone dered for payment)	uality and g rade to ach material to aggregate f	rade inclu hieve 98% site of v from Sarg	ding, pla maximu vork con odha que	cing, mixing, um dry dens nplete in all rry to site, act	spreading and ity determined respect as per tual compacted <b>105 KM</b>
Sr. No.	1st BI-Annual- 2023 (Jan to Jun) Jhang	Description	Unit	Lead (Km)	Qty	Rate (Rs)	Amount (Rs)
1		Matarial					
1	18.2 a(ii)	Waterial	100 Cft	1	1	8 015 25	8 015 25
2	16-3 a(II)	Carriage	100 Cit	1	1	0,915.25	0,915.25
2		1st KM	100 Cft	1	1 20	305.40	366.48
		2nd KM	100 Cft	1	1.20	145.65	174.78
		3rd KM	100 Cft	1	1.20	114.10	136.92
	-	4th KM	100 Cft	1	1.20	81.20	97.44
	1/1	5th KM	100 Cft	1	1.20	75.85	91.02
	1/1	6th KM	100 Cft	1	1.20	74.60	89.52
		7th KM	100 Cft	1	1.20	69.60	83.52
		8th KM	100 Cft	1	1.20	68.85	82.62
		9th KM	100 Cft	1	1.20	64.75	77.70
		10th KM	100 Cft	1	1.20	60.75	72.90
		From 11 km to 200 km	100 Cft	95	1.20	52.20	5,950.80
		Total.					16,138.95
		Total Amount per 100 Cft					16,138.95
		Total Cost for Per Cft					161.39

		SOLEKVISI				UNJ	10		
			Rate Analys	is R	load				
Dese	cription								
Prov dia v (Cer	viding and with clear tified und	d fixing RPC Manhole Cover Manu r opening size 600 mm (24" dia) and der ISO 9001-2015)	factured with RPC manho	10 le f	0% Reint rame hav	forced ring di	Plastic Cor a meter 790	nposite Ma mm (Comj	terial, 650 mm plete)
Mar	nhole Co	ver						Unit.	Each
Sr.	Ref Input	Detail				Unit I	Rate (British	n System) po	er Each
No.	Rate				Qty	y	Rate P	er Unit	Amount (Rs.)
	Page No112								
1	Α	RPC Manhole Cover			1.00	No	8400	No	8,400.00
		Carriage							1,000
								Total Rs.	9,400.00
2	LB-024	Skilled Cooly			0.50	Nos.	1,400.00	per day	700.00
								Total.	700.00
		Sundries	10	%					70.00
							Tota	l Rs.	770.00
							Total	(1+2)	10,170.00
		Contractor's Profit	20	%					2,034.00
		Total							12,204
		ITEM RATES							
		Composite rate Set						Rs.	12,204

Desc	ription											
MC	B Bank	Chowk						Unit.	Each			
Sr.	Ref	D-4-1					Unit Rate (British System) per Each					
No.	Input Rate	Detail			Qty	7	Rate Pe	er Unit	Amount (Rs.)			
1	MR	MCB Bank Chowk			1.00	No	1,265,000	No.	1,265,000			
		G.S.T			18%				227,700			
								Total	1,492,700			
		Contractor's Profit	20	%					298,540			
		Total							1,791,240			
		ITEM RATES										
		Composite rate Set						Rs.	1,791,240			
		^										

Desc	ription								
MCI	B Bank	Chowk						Unit.	Each
Sr.	Ref	D.4.4				Unit	Rate (British	System) po	er Each
No.	Input Rate	Detall			Qty	y	Rate Pe	er Unit	Amount (Rs.)
				$\square$					
1	MR	MCB Bank Chowk			1.00	No	2,750,000	No.	2,750,000
	1	G.S.T			18%				495,000
								Total	3,245,000
	<b> </b>								
	<b> </b>	Contractor's Profit	20	%					649,000
	<u> </u>	Tatal		$\vdash$				 	2 804 000
	<u> </u>			+					3,894,000
		ITEM RATES							
	<b> </b>	Composite rate Set						Rs.	3,894,000
								1	

Desc	ription								
Circ	uit Hou	se Chowk						Unit.	Each
Sr.	Ref	Detell				Unit	Rate (British	System) po	er Each
No.	Rate	Detail			Qty Rate Per			r Unit	Amount (Rs.)
1	MR	Circuit House Chowk			1.00	No	1,450,000	No.	1,450,000
		G.S.T			18%				261,000
								Total	1,711,000
		Contractor's Profit	20	%					342,200
		Total							2,053,200
		ITEM RATES							
		Composite rate Set						Rs.	2,053,200

Desc	ription									
EDU	JCATIC	DNAL COMPLEX CHOWK						Unit.	Each	
Sr.	Ref	<b>D</b> / <b>N</b>				Unit	Rate (British	System) pe	er Each	
No.	Input Rate	Detail			Qty	7	Rate Pe	Unit.   Each     Unit.   Each     System) per Each     er Unit   Amount (Rs     No.   5,499,00     No.   5,499,00     Operation   Operation     No.   5,499,00     Image: Comparison of the state of the s		
1	MD	EDUCATIONAL COMPLEX CHOWK			1.00	No	5 /00 000	No	5 499 000	
1	IVIIX	EDUCATIONAL COMI LEA CHOWK			1.00	NU	5,499,000	ΝΟ.	5,499,000	
		G.S.T			18%				989,820	
								Total	6,488,820	
		Contractor's Profit	20	%					1 297 764	
				/0					1,227,701	
		Total							7,786,584	
		ITEM RATES								
		Composite rate Set						Rs.	7,786,584	
		· ·							, , , , , , , , , , , , , , , , , , , ,	

Desc	ription								
KHA	ATM E	NABOOWAT CHOWK						Unit.	Each
Sr.	Ref					Unit	Rate (British	System) pe	er Each
No.	Input Rate	Detail			Qty	7	Rate P	er Unit	Amount (Rs.)
		Gray Structure of work							
	MR	Excavation deep 2 ft circle 16x16							
		height 3ft up from road level with complete							
		wall tile work.							
		2)Rori work + PCC +RCC rafting for centrel column 1.5 ft x1.5 ft heighy 5ft							
		Brick work in super structure							
		Brick work in super structure in all respect DPC							
		Electrical work GM cable							
		Black horse weather sjield paint.							
		Light Detail							
1		12 led small light 30 watts			1.00	No	880,000	No.	880,000
		G.S.T			18%				158,400
								Total	1,038,400
		Contractor's Profit	20	%					207,680
		Total							1,246,080
		ITEM DATES							
		<u>IIEWIKATEO</u>		+					
		Composite rate Set						Rs.	1,246,080
		*		1					, ,

Desc	ription								
KHA	<b>TM E</b>	NABOOWAT CHOWK						Unit.	Each
		-							
Sr.	Ref					Unit	Rate (British	System) p	er Each
No.	Input Rate	Detail			Qty	7	Rate Po	er Unit	Amount (Rs.)
		Four Oul with Allah Structure							
		Material Detail:							
		4 Ply fiber cladding, steelstructure 1/2 angle,							
		1 inch pipe							
		Rooftop ALLAH Sculpture							
		Enamel Paint Finish							
		Transportation, Installation							
1	MR				1.00	No	1,750,000	No.	1,750,000
		G.S.T			18%				315,000
								Total	2,065,000
		Contractor's Profit	20	0/					412,000
			20	70					413,000
		Total							2,478,000
		ITEM RATES							
		Composite rate Set						Pe	2 478 000
								10.	2,470,000

Desc	ription												
	<b>_</b>							Unit.	Each				
Sr.	Ref Input	Detail			Unit Rate (British System) per Each								
No.	Rate				Qty		Rate Pe	er Unit	Amount (Rs.)				
1	MR	Illuminated wall as per design drawings		$\left  \right $	1.00	Sft	500	Sft	500				
		G.S.T			18%				90				
								Total	590				
		Contractor's Profit	20	%					118				
		Total							708				
		ITEM RATES	_	$\square$									
		Composite rate Set						Rs.	708				

Desc	ription												
	•							Unit.	Each				
Sr.	Ref Input	Detail			Unit Rate (British System) per Each								
No.	Rate				Qty		Rate Pe	r Unit	Amount (Rs.)				
1	MR	Classic Wall planter			1.00	No	40,000	No.	40,000				
		G.S.T			18%				7,200				
								Total	47,200				
		Contractor's Profit	20	%					9,440				
		Total							56,640				
		ITEM RATES											
		Composite rate Set						Rs.	56,640				
1													

ription												
							Unit.	Each				
Ref				Unit Rate (British System) per Each								
Input Rate	Detail	Detail		Qty		Rate Pe	er Unit	Amount (Rs.)				
MR	Corinthian cap and piller per design drawings			1.00	Sft	3,000	Sft	3,000				
	G.S.T			18%				540				
							Total	3,540				
	Contractor's Profit	20	%					708				
	Total							4,248				
	ITEM RATES											
	Composite rate Set						Rs.	4,248				
	Ref Input Rate MR	Composite rate Set	ription	ription	ription I I   Ref I I   Input Input Input   Input Input <t< td=""><td>ription   Independent of the second second</td><td>ription In In</td><td>ription Image: state sta</td></t<>	ription   Independent of the second	ription In	ription Image: state sta				

ription								
							Unit.	Each
Ref Input	Deteil				er Each			
Rate	Detan			Qty		Rate Pe	Amount (Rs.)	
	15 feet/dia floral clock with outer dial , artifical grass ,digital, needle .installation charges. Clock mechanism includes controller , 6 hours							
MR	battery time and charger			1.00	Sft	1,200,000	Sft	1,200,000
	G.S.T			18%			Total	216,000
							10181	1,410,000
	Contractor's Profit	20	%					283,200
	Total							1,699,200
	ITEM RATES							
	Composite rate Set						Rs.	1,699,200
	Ref Input Rate MR	Ref   Detail     Rate   Detail     Input   Detail     Rate   I5 feet/dia floral clock with outer dial , artifical grass ,digital, needle .installation charges.     Clock mechanism includes controller , 6 hours battery time and charger     MR   G.S.T     G.S.T     Total     ITEM RATES     Composite rate Set	Input   Detail     Ref   Detail     Input   Detail     Rate   Input     Input   Input     Input   Detail     Input   Input     I	Input   Implication   Implication     Ref   Implication   Implication   Implication     Rate   Implication   Implication   Implication   Implication     Implication   Implication   Implication   Implication   Implication   Implication     Implication <thimplication< th="">   Implication</thimplication<>	ription   I   I     Ref   Input   Detail   I     Rate   I   Qty     Input   Detail   I   I     Imput   Imput   Imput   Qty     Imput   Imput   Imput   Imput   Imput     Imput   Imput   Imput   Imput   Impu     Imput   Impu   Impu   Impu   Impu     Impu   Impu   Impu   Impu   Impu   Impu     Impu   Impu   Impu   Impu   Impu   Impu   Impu     Impu   Impu   Impu   Impu   Impu   Impu   Impu   Impu <td< td=""><td>ription   I&lt;</td><td>riptionIIIIIRef Input RateDetailIIIIRef Input RateDetailIIIII5 feet/dia floral clock with outer dial , artifical grass ,digital, needle .installation charges. Clock mechanism includes controller , 6 hours battery time and chargerIIIIMRIIIIIIIG.S.TIIIIIIG.S.TIIIIIIITotalIIIIIITotalIIIIIITotalIII<td< td=""><td>rptionIIIIIIIIIIIIIIIIIIRef Input RateDetailDetailDetailIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII</td></td<></td></td<>	ription   I<	riptionIIIIIRef Input RateDetailIIIIRef Input RateDetailIIIII5 feet/dia floral clock with outer dial , artifical grass ,digital, needle .installation charges. Clock mechanism includes controller , 6 hours battery time and chargerIIIIMRIIIIIIIG.S.TIIIIIIG.S.TIIIIIIITotalIIIIIITotalIIIIIITotalIII <td< td=""><td>rptionIIIIIIIIIIIIIIIIIIRef Input RateDetailDetailDetailIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII</td></td<>	rptionIIIIIIIIIIIIIIIIIIRef Input RateDetailDetailDetailIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

Desc	ription												
Back	klit Boar	rd						Unit.	Each				
Sr.	Ref	Detail			Unit Rate (British System) per Each								
No.	Input Rate				Qty	7	Rate Po	Amount (Rs.)					
		Lighting Type: LED. Color: White,Red,etc. Frequency: 50Hz.											
1	MR	Thickness: 5-10 Cm.			1.00	Sft	500	Sft	500				
		G.S.T			18%				90				
								Total	590				
		Contractor's Profit	20	%					118				
		Total							708				
		ITEM RATES											
		Composite rate Set						Rs.	708				

Annexure-D Gant Chart

### TENTATIVE PROJECT IMPLEMENTATION SCHEDULE FOR IMPROVEMENT/REHABILITATION OF 7 NOS CHOWKS IN JHANG CITY (2023-2024)

Road No.	Road Name	JUL - 23			AUG - 23				SEP - 23				
1	MCB Bank Chowk												
2	Circuit House Chowk												
3	Bund Chowk-1												
4	Khatme Naboowat Chowk												
5	Bund Chowk-2												
6	Educational Complex Chowk												

## Annexure-E E&S Check SOPs

PUNJAB CITIES PROGRAM (PCP)

ا<u>ککام بوربا ب</u> تکنید کیدمدد مد مود

TMAWAZIRABAD

# تر قیاتی منصوبوں کی تغیر ومرمت کے دوران کام کرنے والے مزدوروں مردرز (بشمول خواتین لیبر مردرز) کی صحت ، حفاظت اور ماحول کے لئے معیاری اصول وضوالط



Scanned with CamScanner



لوکل گور نمن ایند کمیونی ڈویلپمنٹ ڈیپار شمنٹ اور پنجاب میون پل ڈویلپمنٹ فند کمپنی (PMDFC) نے درلڈ بینک کے اشتراک سے بنجاب سیٹرز پروگرام (PCP) کا کامیابی سے اجرا کردیا ہے . اس منصوبے کے تحت صوبہ پنجاب کے 16 چھوٹے شہروں (MCs) بشمول ہما ولنگر ، بور یوالا ، خانیوال ، کوٹ ادو، وہاڑی ، گوجرہ ، جھنگ ، کمالیہ ، اوکا ڑا، ڈسکہ ، حافظ آباد، جہلم ، کاموکی ، مرید کے افتد کر استر ترقیاتی کاموں پر کامیابی سے کام جاری ہے ۔ ان ترقیاتی منصوبوں میں ویسٹ مینڈ مین کی فراہمی ، نکامی آ جہ استان کے مرت ، کمیونی پارٹس کی بحالی اور قدرتی آ فات کی روک تھام کے منصوبہ جات شامل ہیں ۔

، پنجاب سیٹیز پروگرام (PCP) کے منصوبہ جات کی تکمیل کے دوران ساجی اور ماحولیاتی مسائل کی جانچ پڑتال اوراس کے طل کے لئے انوائر منظل اینڈ سوشل سیف گارڈز (ESSs) ٹیم نے انوائر منظل اینڈ سوشل مینجہنٹ فریم ورک (ESMF) بنایا ہے. مختلف منصوبہ جات اسی فریم ورک کی روسے پایہ سیمیل تک پہنچ رہے ہیں۔

تعمراتی اور ترقیاتی کاموں کی تحمیل میں تعمیراتی جگہوں پر کام کرنے والے مزدوروں رلیبر (بشمول خواتین) کی صحت اور کام کرنے کے دوران حفاظت بہت اہمیت رکھتی ہے - اس اہم مسئلہ کو لکوظِ خاطر رکھتے ہوئے، پی ایم ڈی ایف سی کے زیر اہتمام پنجاب سٹیز پر وگرام کی انواز نمنٹ اینڈ سوشل مینجمنٹ ٹیم نے " ترقیاتی منصوبوں کی تعمیر و مرمت کے دوران کام کرنے والے مزدوروں ، ورکرز (بشمول خواتین لیبر رورکرز) کی صحت ، حفاظت اور ماحول کی لیے بنیا دی اصول وضوالط"


اغراض ومقاصد

ا\_ بحوزہ معاری اصول وضوابط پنجاب سیٹیز پروگرام (PCP) کے تحت بنجاب میونیک ڈویلیمنٹ فنڈ کمپنی ( PMDFC) کے ماہرین ما حولیات نے بروگرام ڈائر یکٹر (PCP) اورڈیٹی بروگرام ڈائر یکٹر (PCP) کی زیرتگرانی تشکیل دیے ہیں۔ ۲\_شہری ترقی کے ترقباتی منصوبہ جات کی تغمیر ومرمت میں مز دور/درکرز بنیادی کردار ادا کرتے ہیں۔ ان ( SOPs ) کابنیادی مقصد مز دور ادر (بشمول خواتین کیبر / ورکرز) کو تعمیراتی جگہوں (Constrcution sites) اور ليبر كيميس ميں ماحولياتي اور ساجی تحفظ فراہم کرنا اور صحت، ماحولیات اور کسی خطرنا ک صورتحال ے بچنے کے لئے حفاظت فراہم کرنا ہے۔ ۳- یہ SOPs (PCP) پنجاب سیٹیز پردگرام کے تحت 16 شہروں کی میونیل کمیٹیز/کاریوریشنز میں تعمیر دمرمت کے تمام پراجیکٹس برلاگوہوں گے۔ ۳- یه SOPs مزدوروں کا م کرنے والوں رد پہاڑی دار (بشمول خواتین) بربلاتخصیص لاگوہوں گے۔ ۵\_ان SOPs کوموٹر اور یقینی بنانے کے لئے اُنھیں ٹھکید اروں کے کنٹریکٹ کا حصبہ بنانا اوران پڑمل درآ مدکرانا میونیل کمیشیز/کارپوریشنز کی ذمہ داری ہے۔ جسے بی ایم ڈی ایف سی کی متعلقہ پروگرام ٹیم یقینی بنائے -5



پاکستان کی ترقی میں تغمیراتی کاموں کے دوران کام کرنے والامز دور طبقہ نہایت اہمیت کا حامل ہے اور الحصحت و تندر متی سے متعلق مسائل کا مؤثر حل انتہائی ضروری ہے۔ " ترقیاتی منصوبوں کی تغمیر و مرمت کے دوران کام کرنے والے مزدوروں رورکرز (بشمول خواتین لیبر رورکرز) کی صحت، حفاظت اور ماحول کیلئے بنیادی اصول وضوابط " کی اشاعت و



محمد عا مرنذ بر پروگرام ڈائریکٹر پنجاب سیٹیز پروگرام (PCP)



زیر نگرانی



افتخار رسول

ڈ پٹی پروگرام ڈائر یکٹر پنجاب سیٹیز پروگرام(PCP)

تکنیکی ٹیم رضوانه انجم پروگرام آفیسر(انوایزنمنٹ اینڈ سوشل سیف گارڈ ز) پنجاب سييرز پروگرام(PCP) تهمينهكرن کنزی ند د پی پروگرام آفیسر (ESSs) ريس ج اينالسط پنجاب سيٹيز پروگرام (PCP) پنجاب سييرز پروگرام (PCP)



۱. مزدور / لیبر کیلیے عارضی کیمپ / رہائش گاہ کے انتظام و قیام کے لئے جگہ کا انتخاب

///

مسائل

- ا مقامی آبادی کے دسائل براضافی بوجھ
  - م مقامی آبادی سے تنازعات کا خدشہ
  - م سابق، مذہبی، اور سکیورٹی کے مسائل۔

#### حفاظتي اقدامات



تھیکیدار لیبر کیمپس کے قیام کے وقت مندر جہ ذیل باتوں کا خیال رکھے گا: کیمپس ایی جگہوں پرلگائے جا کیں جو ماحولیاتی، نہ ہی، سماجی اور ثقافتی نقط نظر ۔ قابل قبول ہوں۔ مقائی آبادی کے ساتھ کسی تنازعہ ہے بچنے کے لیئے آبادی ہے دور جگہ کا انتخاب کیا جائے پر کیمپ کی جگہ اور سہولیات ۔ متعلق ایک تفصیلی نقشہ تیار کر متعلقہ میونپل کمیٹی رکار پوریش میں جح کرایا جائے۔ دیگر مقائی ادارے جیسے صحت ، سکیورٹی وغیرہ کو لیبر کیمپ کے مقام اور مدت کے بارے طلع کیا جائے تا کہ کی نا گہانی صورتحال ہے، پچا جائے۔ پر کیمپ کی جگہ اور سہولیات ۔ متعلق ایک تفصیلی نقشہ تیار کر کے متعلقہ میونپل کمیٹی رکار پوریش میں جح کرایا جائے۔ پر کیمپس کے قیام کیلیئے عارضی جگہ رزمین کا حصول زمین کے مالک کی مرضی، طرکہ دہ کرایا اور با قاعدہ تحریری معاہدے کی صورتحال ہے۔ پر کیمپس سے قیام کیلیئے عارضی جگہ رزمین کا حصول زمین کے مالک کی مرضی، طرکہ دہ کرایا وربا قاعدہ تحریری معاہدے کی صورت میں کیا جائے۔ پر کیمپس سے ملحقہ بنیا دی سہولتوں جیسے پنے کاپانی اور نکا تی آب کا نظامات سے ماحولیاتی آلودگی میں اضافہ نہ ہو



پی ایم ڈی ایف سی



حفاظت مقد او نے والے کوڑا کرک اور کچن کے کوڑا کرکٹ کے لیے الگ الگ کوڑادانوں کا انظام مونیل سمیٹی رکار پوریشن کی جانب سے نتخب کردہ جگہ پردوزانہ کی بنیاد پرکوڑ کے واض نے اور تاخب کر محکامت انتظام۔ عارض ٹو انگٹس سے پیدا شدہ فضلے اور کیکو یڈویسٹ کو حفظان صحت کے اصواوں کے مطابق ٹیوکا نے لگانتظام۔ فضل کو ٹیکل نے لگ نے کہ پکش گاہ ہے کم از کم 500 میٹر دور جگہ کا انتخاب کیا جائے جس کے اردگر دلوکوں کی رہائش نہ ہو۔ رہائش داخل نہ ہوں اور پچھراور بد یو تھی پیدا نہ ہو۔





ٹھیکیدار کیمپ سائٹس پر درج زیل سہولیات مہیا کریے گا۔

 لیبر کیمیس میں کھانا پکانے، کمروں کہ گرم رکھنے نیز سر دیوں میں نہانے اور دھونے کے لیے گرم پانی کے لیے ایند شن کی لکڑی یا دیگر بائیو گیس استعال کرنے کی حوصلہ تکنی کریں اور ایند شن کیلیے درختوں کی کٹائی نہ کریں۔
 درختوں اور ارد گرد جنگلات کی حفاظت کیلیے مزدوروں رلیبر کو آگاہی دی جائے۔
 کھانا پکانے کے لیئے قدرتی گیس یامٹی کے تیل کے حفوظ چو لہے استعال کیے جاپیں۔





Scanned with CamScanner

چوہیں گھنٹے لیبر کیمپس میں پرفرسٹ ایڈ بکس کی سہولت موجود ہو۔ کیمپ سائٹس میں ابتدائی طبی امداد سے متعلقہ دواؤں کا موجود ہونا یقینی بنایا جائے ۔ اورطویل المدتی کیمپ کی صورت میں کسی ڈسپنسر رڈاکٹر کاکیمپ میں موجود ہونا چاہئیے ۔
سی ایم جنسی کے دوران مزدوروں کے لیے ایم ولینس کی سہولت فراہم کی جامے اورا پر جنسی سروسز 1122 یا 15 پر کال کرنے کے لیے ٹیلیفون رمو بائل کی سہولت مہیا کی جائے ۔
حفظان صحت کے بہترین اصولوں ، صفائی ستھرائی اور صحت کی دیکھ بھال کے امور کیلیے مزدوروں رلیبر کو تربیت فراہم کی جائے جس میں تمام مزدوروں کی شرکت کویفینی بنایا جائے۔
جنسی طور پرتنقل ہونے والی بیماریوں اورایڈز وغیرہ کے بارے میں مزدوروں کو کمل معلومات فراہم کی جائیں اوران بیماریوں سے بچنے کے لیے ر حفاظتی اصول اپنانے پرزور دیا جائے۔
پچھروں اور دیگر بیکٹیریا کو پیدا ہونے سے روکنے کیلیئے حفاظتی سپر پر از می کرائے جائیں۔
کردنا سے بیچنے کے لیئے ابتدائی سکریننگ یقینی بنائیں اور بار بار ہاتھ دھونے پرزوردیں اور علامات خاہر ھونے پرفوری طور پردیگر مزدوروں سے آئسولیشن کے کمل اصولوں پرتختی سے ممل کیا جائے۔
🔶 لیبر کیمپس کے اندر مناسب مقامات پر حفظان صحت کے اصولوں سے متعلقہ پیغامات اور طریقے ڈسپلے کیے جایئن اور تربیتی پروگرام کا اہتمام کیا
-26
قریبی ڈسپینسری رہیلتھ کلینک رہیپتال کے رابطہ نمبر وغیرہ واضح مقامات پر آویزاں کئے جائیں۔

SECURITY سرگرمیاں ۷۔سکیور ٹی اور حفاظت کی سہو لیات مسائل ا سكور ٹي سے مسائل ورى كاخطره و بشت گردی کاخطره • آگ لکنے کے خطرات حفاظتي اقدامات 🔶 کیمی کے گردحفاظتی باڑ کی فراہمی حفاظتى المكار (يوليس يانجى سكيور ٹى گارڈ رہوم گارڈ وغيرہ) كى تعيناتى 🔶 کیمی میں موجودافراد کی صحیح تعداداورآ مدورفت کا حساب کتاب رکھنے کے لیے رجسٹر میں اندراج۔ آگ ۔ جیاؤ کے لیئے لیبرکیمیں بنانے میں ایسا کوئی میٹریل استعمال نہ کیا جا ہے جس ہے آگ لگنے کا ندیشہ ہو۔ 🔶 بارش،طوفان،سیلاب وغیرہ سے بیچنے کیلےاس بات کو یقینی بنایا جائے کر کیمپ سما ترف اور عارضی کمر <mark>سے رہائش گا ہیں محفو</mark>ظ رہیں۔ لیبر کیمپس میں آگ بچھانے والا آلات موجود ہوں جن پرانگی آخری معیاد کی تاریخ درج سے اور سکیورٹی گارڈیا لیبر وغیرہ میں سے نگ افرادکوآگ بچھانے والے آلداستعال کرنے کی تربیت دی جائے۔ ليركيم يين واضح مقامات پر ہنگامی را يرجنسي را بط نمبر نماياں درج ہوں۔ ٹھیکیدار، لیبر کے ساتھ ماہانہ میٹنگز میں ایمرجنسی کی صورت میں ہرایک مز دورکواسکی ذمہ دا<mark>ریوں اور تربیت سے آگ</mark>اہ کرے<sup>ادرا کی تقبل<sup>نگ</sup> ان اند</sup> کنسلننٹ اور میونیل کمیٹی رکار پوریشن کوفراہم کرے۔ اور کسی بھی قشم کی شکایات ایک رجسٹر میں درج کرے۔ انوائر نمنٹ اینڈ سوشل سیف گلان 11 پی ایم ڈی ایف سی



URUS IIII S HAUMOS AISEASI ELE HEALTH SELATION HEALTH SELATION BISING IIIII S HAUMOS

Food Safety محت کے اصولوں پر مبنی خوراک Food

مسائل

فود بواتر تككاخدشه

یاریکاڈر

#### حفاظتي اقدامات

مزدوروں کوصاف ستھرےاورتازہ کھانے کی فراہمی کویقینی بنایا جاہے۔

سرگرمیاں

٩.مذهبي و سماجي ميل جول

#### مسائل

- مذہبی عبادات میں رکاوٹ
- 🔹 ساجی تعلقات میں دشواری
- ساجی، ثقافتی اور مذہبی خیالات میں شدت پسندی پالڑائی جھگڑ اوغیرہ

#### حفاظتي اقداهات

- مزدوروں رلیبر کوان کے مذہب اور فرقے کے مطابق مذہبی عبادات کی سہولیات فراہم کرنا۔
- 🔶 خواتین لیبر کی موجودگی کی صورت میں ان کے لیے علیحدہ وضو، نمازاور پردے کا اہتمام کیا جائے۔
- متمام مزددروں کی مذہبی، ثقافتی یا فرقے کی داہشگی سے قطع نظر غیر متعصّبانہ ادر برابری کاسلوک کیا جائے۔
- مزدوردں کو تعمیراتی کام کے دوران نماز میں شرکت کرنے یا دیگر عبادات کی اجازت دی جائے اوراس سلسلے میں مذہبی اور سکیورٹی امور کے ذمہ دار مقامی حکام کو تعمیراتی کاموں کے آغاز سے پہلے باضابطہ طور پر آگاہ کیا جائے تا کہ صحت عامہ، معاشرتی اور حفاظتی امور پرموژنگرانی برقراررہ سکے۔

پی ایم ڈی ایف سی ۱۲

## أنوائر نمنت اينڈ سوشل سيف گارڈز ٹيم







- متام مزدوروں رلیبر سے مقامی رمین الاقوامی معیار کے مطابق مناسب حفاظتی اور قانونی ضوابط کی پیروی کردائی جائے۔
- کام کی جگہ پر اردگرد کے علاقوں میں موجود دہشت گردی اور سکیورٹی کے خطرات کے مطابق حکمت عملی کی بروقت تیاری اور ایک محفوظ وضحت مند ماحول مہیا کیا جائے۔
- مزدورورں رلیبر کیلیے ذاتی حفاظت کے سامان (PPEs) کی فراہمی مثلا حفاظتی جوتے ، ہیلمہ طے، ماسک، دستانے ، حفاظتی لباس، چشمے، چہرے اور کان کی حفاظت کے سامان وغیرہ کی فراہمی
  - 🖌 تمام مزددروں رلیبر کوذاتی حفاظت کے سازوسامان کے بارے میں مکمل آگاہی اوراستعال کے طریقے کارکے بارے تربیت کا نتظام۔
- ا اگر تعمیراتی کام ایک ماہ سے زائد عرصہ کیلئے جاری رہنا ہوتو تمام مدت کے لیئے صحت، صفائی اور تر بیت یافتہ ماحولیات کی تعیناتی کی جائے جو مزدوروں کی صحت، صفائی اور ماحولیات کے امور کی نگرانی کرے اور انھیں تر بیت وآگا ہی فراہم کرے۔
- تعمیراتی کاموں کے دوران کسی چوٹ لگنے را نجریز کی صورت میں مزدور رکیبر کے علاج معالیج کی سہولت مہیا کرنا اور بروفت ہیپتال رڈ سپنسری و غیرہ پہچانا ٹھیکیدار کی ذمہ داری ہے۔
- مزید برآل دوران تعمیر تعمیر اتی کام کی وجہ سے لگنے والی چوٹ رانجریز کے نتیج میں ہلاکت ہوجانے کی وجہ سے مزدور رلیبر کی انشورنس اور اس کر بردفت ادائیگی کو یقینی بنایا جائے۔
- ایم جنسی رابطہ نمبر مثلا ریسکیو**1122یا15**اور دیگر قریبی مہپتالوں رڈ سپنسری وغیرہ کے نمبر تعمیر ات<mark>ی جگہوں پر واضح درج ہونے جاہیں اور کال کے</mark> سہولت فراہم کی جائے۔
- شہری ترقی کے تعمیراتی منصوبہ جات کے اغاز سے قبل صحت ، مذہبی اموراور شہری تحفظ رسکیورٹی فراہم کرنے والے مقامی اداروں کوآگاہ رکھا جا۔ اوران سلسلے میں متعلقہ میونپل کمیٹی رکار پوریشن کے تعاون سے موثر حکمت عملی تشکیل دی جائے۔

پی ایم ڈی ایف سی

انوائرنمنٹ اینڈ سوشل سیف گارڈز ٹیم

۲۔تمام مسم کی تعمیراتی سر گرمیاں اور کنسٹر کشن کے کام

15 سال سے کم عمر بچوں کی صحت اور تعلیم کا نقصان 18 سال اور اس سے کم عمر بچوں کی صحت کا نقصان حاملہ مز دورعور توں کی صحت سے متعلقہ خطرات

حفاظتي اقدامات

مسائل

دی پنجاب رسٹرکشن آن ایمپلائمنٹ آف چلڈرن ایکٹ 2016 کے مطابق15سال سے کم عمر بچوں کومز دوری یاکسی سرگرمی کے لیئے کام پر نہیں رکھا جاسکتا۔

- ویسٹ پاکستان میٹرنٹی مذیف آردیننس **1958 کے مطابق حاملہ خواتین یا ایسی خواتین جنہوں نے چ**ھ ہفتے قبل بچے کوجنم دیا ہو، کومز دوری یا کسی سرگر می کے لیئے کام پرنہیں رکھا جاسکتا۔
- دی پنجاب رسٹرکشن آن ایمپلائمنٹ آف چلڈرن ایکٹ2016 کے مطابق18 سال اوراس سے کم عمر کے بچوں کہ محنت مزدوری کے ایسے کام کے لیے خصیں رکھا جاسکتا جن میں صحت کو نقصان چنچنے یا چوٹ لگنے یا کسی کیمیائی زہر یلے مادے سے <mark>نقصان چنچنے یا جہاں مڈی ٹوٹنے کا اندیشہ ہو۔</mark>



انوائر نمنٹ اینڈ سوشل سیف گارڈز ٹیم

10

پی ایم ڈی ایف سی







کرونا وائرس کی وہا کے دوران حفاظتی تدابیر

CORONAVIRUS DISEASE 2019

# مفاظتی اقدامات

سرگرمیاں

گورنمنٹ آف پنجاب اور ورلڈ بنک کی مدایات کے مطابق کرونا کی وبا کے دوران درج ذیل حفاظتی اقدامات کی پابندی کروانا کنٹریکٹر کی ذمہ داری مے :

- کرونادائرس کی وبا کے دنوں میں کنسٹرکشن سائٹ پر ہاتھ دھونے کیلتے پانی (پورٹ ایبل ہینڈ داشنگ کی سہولت )اورصابن مہیا کیا جائے اور لیبرکوبار بارصابن سے ہاتھ دھونے کی تلقین کی جائے۔ لیبرکیمپس میں اورکنسٹرکشن سائٹ پرسوشل ڈیسٹینسنگ (6m کا فاصلہ ) کے اصولوں کو مدنظر رکھا جائے۔
- اگر کسی مریض میں دائر کی علامات (خشک کھانسی، نزلہ، زکام، بخاروغیرہ) پائی جائیں تو اسے فوراً دوسرے مزدوروں ہے آئسولیٹ کر دیاجائے اور ٹیسٹ کروانے کیلئے کہا جائے۔

دان کنسٹرکشن سائٹ پردیگر PPEs کے ساتھ ساتھ مزدوروں کو ماسک لازمی استعال کرایا جائے۔



لتہیراتی کاموں کے دوران خطرات/حادثات سے چی جی مال کا بید سے دوران طاطنت کا خلار تصويري داتى حفاظت تعمیراتی کام اڑنے والے ذرات کا ستعال جیسے پکھلی ہوئی مقصد حفاظتي عينكيس دهات مائع کیمیکل ، پیس، اور بخارات، روشنی کی آنکھوں اور چہرے کی او پراوراطراف نفصان سے بچاؤ کیلئے ایے تمام کام جن میں گرنے کا خطرہ ہو، بلندی پر حفاظت/ تحفظ بلاستك تح جميلم ف کام کرنا بقمیراتی کام کوسنجا لنے اور دوسری جگہ پر سر کی حفاظت/ تحفظ ساعت کی حفاظت کے آلدجات جیسے کن پیش منتقل كرف والحكام-كهدائي/شور پيداكر في والحكام يا بهارى اايتريك یندر پال بلنے اور گرنے والی اشیاء، مائعات اور کیمیائی مشیزی استعال کرنے کی وجہ سے شور۔ سماعت کی حفاظت/ تحفظ تمام تعميراتي كام جن ميں چيزوں كا كرنايا تھمانا، موادیے بچاؤ کیلیے حفاظتی جوتے یا بوٹ نو کیلی اشیاشامل ہوں ۔ گلانے والایا گرم مائع ، پاؤں کی حفاظت/ تحفظ رېژيامصنوعي مواد(نيورويېن)، چېژا، شيل، بجري كي في حر الثمانا-جسماني صحت كيليح نقصان ده سامان جیسے کچر بے کو غير موصل مواد سے بنے گلوز سنجالنا،ایسے کام جس میں کاٹ یا گہرے زخم لگنے ماتهوں کی حفاظت/ تحفظ کاندیشہو،ارتعاش، بہت زیادہ درجہ حرارت۔ ایک جگہ سے دوسری جگہ لے جانے والے یا ایک ہی جگہ پڑے مواد کی فراہمی تعمیراتی جگہ دهول، دهند، شعلے، کیسیں، دهواں، بخارات 1 يربيحاة كاسامان چېرے کے ماسک جن میں دھول ہٹانے اور ہواکوصاف رکھنے کیلئے ( کیمیائی مواد، تحفظ تنفس دھند، بخارات اور کیسوں سے )مناسب فلٹر آسيجن کی کمی لگے ہوں مناسب ميٹريل سے بے غير موصل كيڑے، تمام کام جن میں شدید درجہ حرارت ، نقصان دہ جسم / ٹانگوں کی حفاظت/ اييرن وغيره مواد، حیاتیاتی ایجن، چھوٹے یا گہرے زخم لگنے کا تحفظ انديشهو ہیلم ہے، حفاظتی عینکیں ، کے گلوز اورر بڑ تمام تعميراتي كام جو 4 فث ياس سے زيادہ كى 42 اونچائی پر کام کرتے ھوئے کے بوٹ اونچائی پر کے جانے ہوں بشمول سٹریٹ لائٹس حفاظت وغيره 1 13 تمام تعميراتي كام جو 4 فث يااس - زائداد نيجائي اونچائی پر کام کرتے ھوئے ایک ساتھی فرد يمسلس ايك دن كيليح كي جان بول حفاظت انوائر نمنٹ اینڈ سوشل سیف گارڈ پی ایم ڈی ایف سی 19

### Summary of Recommended Personal Protective Equipment According to Hazard

Objective	Workplace Hazards	Suggested PPE
Eye and face protection	Flying particles, molten metal, liquid chemicals, gases or vapors, light radiation.	Safety Glasses with side- shields, protective shades, etc.
Head protection	Falling objects, inadequate height clearance, and overhead power cords.	Plastic Helmets with top and side impact protection.
Hearing protection	Noise, ultra-sound.	Hearing protectors (ear plugs or ear muffs).
Foot protection	Falling or rolling objects, pointed objects. Corrosive or hot liquids.	Safety shoes and boots for protection against moving & falling objects, liquids and chemicals.
Hand protection	Hazardous materials, cuts or lacerations, vibrations, extreme temperatures.	Gloves made of rubber or synthetic materials (Neoprene), leather, steel, insulating materials, etc.
Respiratory protection	Dust, fogs, fumes, mists, gases, smokes, vapors.	Facemasks with appropriate filters for dust removal and air purification (chemicals, mists, vapors and gases). Single or multi-gas personal monitors, if available.
	Oxygen deficiency	Portable or supplied air (fixed
Body/leg protection	Extreme temperatures, hazardous materials, biological agents, cutting and	Insulating clothing, body suits, aprons etc.
Working at *height	Rehabilitation Projects	Helmet, Safety glasses,
	New Construction Projects	Anchor, belt, lanyard,
*In general, use	of PPEs is required for any height of 4 ft or more.	Ref: OSHA standards
ی ایف سبی ۲۰	پی ایم در	ں سیف گارڈز ٹیم



لتيراتي جدر مقام پرواضح بور دُنصب كرديتي جائيس ،جن پر درج ذيل پينا مات را حکامات لکھے ہوں: (a) تغیراتی کام کی نوعیت المارزیف میں رکاوٹ کی صورت میں متبادل رائے کا نشان اور عارضی رکاوٹ کا پیغام (c)ایم جنسی اور شکایت کیلیئے رابط نمبر ز (PMDFC)(d) کی جانب سے جاری کردہ ساجی وماحولیاتی پیغامات رمینی یوسٹر ز۔ تراتی کام کی جگہ کے ارد گرد 0 0 1 میٹر تک کی حدود میں موجود ثقافتی، ساجی، مذہبی ورثہ ، تاریخی عمارتوں اور مذہبی مقامات جیسے تریزان،میاجد،مندر،گرجا گھروں وغیرہ کوکسی قشم کا نقصان نہ پہنچایا جائے اوران کی حدود میں کوڑا کرکٹ ڈالنے یا فالتویانی چھوڑنے سے گریز کیا وئے مزید برآل کھدائی کے دوران کسی نئے آثارِقد برمد ملنے کی صورت میں متعلقہ مقامی محکمے سے رجوع کیا جائے اور کھدائی کا کام بند کر کے لتميراتي كام روك دياجات\_

سرگرمیاں

2-کیدائی کی جگہ اور اس سے متعلقہ کام اور نالوں کی صفائی اور اس سے حاصل شدہ بہل وغیرہ

مسائل

حُدانی سے حاصل شدہ مٹی رکنگر کے ڈچیر (Debris) سے رہائشیوں کی آمدور ڈت اورٹر یفک میں رکاوٹ ىتانى بالشيول كىلىيۇ ناگوارى كاباعث مچروں اور دیگر بیماری چھیلانے والے جراشیم کی افز اکش کا ذ ربعیہ کھدائی کی جگہ پر گرنے اور حادثات کے خطرات وانرنمنت اینڈ سوشل سیف گارڈز ٹیم یی ایم ڈی ایف سی

///



11



ہ۔ 4۔تعمیر اتی کاموں کی وجہ سے راستوں میں عارضی رکاوٹ اور زمین کا عارضی حصول

> روز مرہ معمولات اور کا موں میں رکاوٹ رہائٹی خواتین کیلئے آنے جانے میں رکاوٹ دکانداروں کے دکانوں کے آگے رکاوٹیں اور گا ہکوں کیلئے مشکلات مستقل وعارضی سٹالز لگا کر بیچنے والے چھوٹے بڑے مستقل دکانداروں کا گا مکہ کم ہوجانے کی وجہ سے مالی نقصان

حفاظتي اقدامات

مسائل

تعیراتی علاقے میں اردگر دموجود تمام چھوٹی بڑی دکانوں بھیلوں ، عارضی خوانچ فر دشوں اور گھر دِن کا کلمل سرد ے (تعداد ادر مالی حیثیت وغیرہ) او ان پر ممکنہ سما جی اور ماحولیاتی اثر ات کا جائزہ لے کرایک تفصیلی رپورٹ اور متعلقہ پلان میڈ پل کمیٹی رکار پوریشن کے دفتر میں موجود ہونی چا ب جو کہ فو کل پرسز ، متعلقہ علاقائی آفس میں موجود ڈپٹی پر وگرام آفیسر (ESSB) کے ساتھ تعیر اتی کا موں کی مالیت کا اندازہ لگا کے دفتہ تیار جو کہ فو کل پرسز ، متعلقہ علاقائی آفس میں موجود ڈپٹی پر وگرام آفیسر (ESSB) کے ساتھ تعیر اتی کا موں کی مالیت کا اندازہ لگا کے دفتہ تیار جائیگی ۔ اس رپورٹ اور پلان میں موجود دی چی پر وگرام آفیسر (ESSB) کے ساتھ تعیر اتی کا موں کی مالیت کا اندازہ لگا حصہ ہوگا۔ میں ہوگا۔ دور ہوں رتھلوں وغیرہ کے باہر کی بھی قسم کے نقصان یا تو ٹر چھوٹر کی صورت میں ٹھکیدار کے نشریک کہ موالط اور کر دور کو تر بیت دی جانے اور دکانوں رگھر وں تک رسائی کے لیے متبادل رائے مہیں کرنا تھیکیدار کی نظریک دکانوں رتھلوں وغیرہ کے باہر کی بھی قسم کے نقصان یا تو ٹر چھوٹر کی صورت میں ٹھکیدار کے نشریک ہوگاں کر ایک ہول دکانوں رتھ ہوں رتھیلوں وغیرہ کے باہر کی بھی قسم کے نقصان یا تو ٹر چھوٹر کی صورت میں ٹھکیدار کے نظری ہوگا کہ کہ ہوگا ہوگیں۔ اور اس حول نہ ہوں رتھیلوں وغیرہ کے باہر کی بھی قسم کے نقصان یا تو ٹر چھوٹر کی صورت میں ٹھکیدار کے نشری کی ہوگوں ک میں جول نہ رفتر ہیں دور کو تر بیت دی جائے کہ دہ ارد کر در پائی عورتوں اور بچوں کی آنے جانے میں کوئی رکاہ دی دینیں اور رہائیوں کی تائی دو گوں کی معالی ہوں کر مولی ہوں ہیں اور کی جائی کی دولی کی تعالی ہوئی کی تو میں کو کی رکھی دی کی کر میں میں کوئی دی کار ایو مال کی گئی دین کا کر ایوں اور دیکوں کے تی تائیں کو دی تو میں کوئی دولی ہوں نے دی کر کی تھیں ہوں کر ہوں کی میں کو کی میں مولی دولی کی مورد کی کی تی دولی کی کو کی کر دولی کو دولی ہوں کو دولی کر ہوں کر دولی کی گئی دین کا کر ایو مالی کو دوت

لتحمیراتی کیمپ لگانے بتحمیراتی کام کر فی احشینری اور لتحمیراتی سامان رکھنے کے لیئے عارضی طور پر حاصل کی گئی زمین کا کرامیہ ما لک مکان کو دفت پرادا کی جائے گا۔اورتخریری معاہد کے صور حدیث تحکیدارتما مقواعد وضوالط کا پابند ہوگا۔ لتحمیراتی کا موں کیمپ وغیرہ لگانے کے لیئے عارضی زمین حاصل کرنے کے لئے مقامی رہائشیوں سے مشاورت اور دنوں کے حاب کر امید اور اس کا کممل طریقہ کا روضع کر کے با قاعدہ لکھا جائے گا۔اورخلاف ورزی کی صورت میں ٹھیکیدارڈ مہدارہوگا۔



FTY-



- تعمیراتی کاموں کے دوران پیداشدہ فاضل پانی یا پورٹیبل ٹو انگٹس کا پانی رفضلہ وغیرہ کا محفوظ اور مناسب طریقے سے ٹھکانے لگانے کا بندوبست کیا جائے اور فاضل پانی کو پینے کے صاف پانی کے ساتھ شامل ہونے سے بچانے کا ہزمکن قدم اٹھایا جائے۔
- واٹر سپلائی کی سیموں یا ایسی تمام کام جن کی وجہ سے رہائشیوں کو پانی یا سیور بنی وغیرہ میں عارضی بندش کا سامنا کرنا پڑ سکتا ہو۔، ایسے تمام کا موں کے آغاز سے پہلے رہائشیوں کو پیشگی اطلاع دی جائے اور متبادل انتظامات کا خاطر خواہ انتظام کیا جائے۔
- تعمیراتی کاموں کی وجہ سے درختوں کی کٹائی سے ہر حال میں گریز کیا جائے اور نا گزیر صورت حال میں ایک درخت کی کٹائی کے متبادل کے طور پر چار درخت لگا ناضروری میں۔
- تعمیراتی جگہ پر پیدا ہونے دالےکوڑا کرکٹ کوٹھکانے لگانے کیلئے ڈسٹ بن لگائے جائیں اوران کوروزانہ کی بنیاد پر متعلقہ میونیل کمیٹی کی طرف سے مقرر کردہ مقام پڑھکانے لگایا جائے۔
  - کوڑا کرکٹ اور فاضل پانی اردگر دموجو دفسلوں اور ندی نالوں میں چھینکنے سے گریز کریں۔
  - گردد غبارادر ہوائی آلودگی کی صورت میں پانی کا با قاعدہ تچھڑ کاؤ کریں۔
    تعمیر اتی کام کی مدت اور نوعیت کے مطابق کام کے آغاز سے پہلے، کام کے دوران اور کام کے بعد ﷺ
- مستعمیرانی کام کی مدت ادر نوعیت کے مطابق کام کے آغاز سے پہلے،کام کے دوران اور کام کے بعد شرکی آلودگی ، ہوائی آلودگی اور آبی آلودگی کے نمونہ جات حاصل کر کے ان کی جانچ پڑتال کرانا ٹھیکیدار کی ذمہ داری ہے۔ اس سلسلے میں ریجنل آشن میں موجود ڈپٹی پروگرام آفیسر (ESSs) سے مزید رہنمائی حاصل کریں۔

لتمیراتی کا مکمل ہوجانے کے بعدعلاقے کی صفائی ستھرائی اور ماحولیاتی خوبصورتی کا خاص <mark>خیال رکھیں اور پہلے سے بہتر حالت میں چھوڑیں</mark>۔

\* سريم كورث آف باكتان كرودولكس نبر 25 بطابق 2009 حال نبر "كتل آف فرينال دوا يونك لا مود" تيراتى كامول كردران برايد درخت كاكانى كتادل باردرخت لا عران تخيراتى كامول كردران برايد درخت كاكانى كتادل باردرخت لا عران تخيراتى كامول كردران برايد درخت كاكانى كتادل باردرخت لا عران تحد وي ايم شى ايم شى ايف سى

٢۵



- The Punjab Occupational Health & Safety Act, 2019
- General Environment, Health & Safety (EHS) Guidelines by International Finance Corporation (IFC), World Bank
- International Labour Standards of International Labour Organization (ILO)
- Punjab Tehsil/Town Municipal Administration (Works) Rules 2003 (Amendments 2016)
- The Punjab Restriction on Employment of Children Act, 2016
- The West Pakistan Maternity Benefit Ordinance, 1958
- ESF/Safeguards Interim Note: COVID-19 Considerations in Construction / Civil Works Projects - World Bank Guidelines
- Health & safety SOPs for Construction Workers/Sector for COVID 19
- Punjab Wildlife (Protection, Preservation, Conservation and Management) Act, 1974

